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Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Suppose a? + b? =4(a +3b-10), where a and b are two real
numbers. Then which of the following is true?

M a>p
2 a<b
3 a=b

(4) From the above equation nothing can be said about the

relationship between a and b.
Options :
8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T T a2 + b2 =4(a +3b-10), STET a @ b =T AT T=ATT 2 |

7 9 T T FrA-A7 70T 22

(1) a>b

(2) a<b

(3) a=b

(4) ST THIEIT T a AT b & ITEAE T9dg F AL H TP AT
Tel FgT ST TFaT 2 |

Options :

8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the day after tomorrow is NOT Friday then which of the following
day CANNOT be the day before the day before yesterday?
(1) Sunday

(2) Monday
(3) Tuesday

(4) Wednesday
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Options :

8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ATE ATH T & % T15 T (67 FHATE A1 &, A7 99 § A H9-97 54
o5 g 7 37 7 ot T o P Y A 819

(1) ===
(2) sraT™
(3) HEET

(4) FFATT
Options :
8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



Which of the following words can be formed using only the

letters of the word
“FLOCCINAUCINIHILIPILIFICATION"? When forming a word

you can use a letter at most as many times as it appears in the
above word.

M) PHILIPPINES
(2 CHINCHILLA
(3) CINCINNATI

4) NATIONALITY
Options :

8024374769. 1

8024374770. 2

8024374771. 3

8024374772. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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=5 & T FA-IT 958 Fad 3T TAT HI TANT F7d g0 TATAT ST Tehed]
2, 9T T =7 &7 717 9rs= “FLOCCINAUCINIHILIPILIFICATION” &

T E0 57 951 (R0 7 q9T A1T UF J447 F1 ATAFAT a1 a1
TN F7 T &, a1 a7 98 F9% =87 A7 o5 § T 54T 2

(1) PHILIPPINES
(2) CHINCHILLA
(3) CINCINNATI

(4) NATIONALITY

Options :

8024374769. 1
8024374770. 2
8024374771. 3
8024374772. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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A box contains 10 red balls and 12 white balls. Two balls are
drawn from the box at random, one by one without replacement.
What is the probability that the second ball is red?

(1) 172
() 5/11

(3) 3/10
(4) 9/16

Options :

8024374773. 1
8024374774.2
8024374775. 3
8024374776. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TF s H 10 AT AT 12 TH2 A2 8 | S99 I UF & 972 UF & e
AT afaeaToa o arg=as =7 & FaEet St € | 80 98 & a1

2 ¥ aTiaear e 2 2
(1) 1/2

(2) 5/11

(3) 3/10

(4) 9/16
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Options :

8024374773. 1
8024374774. 2
8024374775. 3
8024374776. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Three containers, namely cylinder, square prism and triangular

prism, are given. Which one of the following conditions will

ensure that they have identical volume?

(1) Their base areas and heights are identical
(2) Their base areas are identical

(3) Their heights are identical

(4) Their base areas and heights are different
Options :

8024374777. 1

8024374778. 2

8024374779. 3

8024374780. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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THT ZINT 2
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1) S AT ‘\Eﬁ AATRA d;iF H ERED é"’ll%‘ﬂl Uch A+ A '%: |
L]
(2) G-‘-la& 33T?‘I|?| %} E'-‘l":l':ﬁﬁl “_133 IIH '_'| %- |

(3) ST SETEAT TF THI ¢ |

(4) ST ATATI & AAHA AT IAT SATSAL (9 3 |

Options :

8024374777. 1
8024374778. 2
8024374779. 3
8024374780. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

An apple is fully cut vertically through its centre 4 times such that

successive cuts are spaced at 45° in clockwise direction. How
many pieces are made?

(1) 4
(2) 16

(3) 8
(4) 12
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Options :

8024374781. 1
8024374782.2
8024374783. 3
8024374784. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
=

T T H SHF FF H Bid g0 4 FT SEATIY T q9g HeT 4T
- - & . o =
ST Feld TTEI7 45° 0T 9T FAvTae Q9T § arw | A 29

AT T ?

(1) 4
(2) 16
(3) 8
(4) 12

Options :

8024374781. 1
8024374782.2
8024374783. 3
8024374784. 4

Question Number : 7 Question Id : 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Bottles are to be packed in boxes. If 4 bottles are packed in a box
then 3 boxes are left unused, but if 3 bottles are packed in a box
then 3 bottles are left unpacked. The total number of bottles is

(1) 36
(2) 92
(3) 40
(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 7 Question Id : 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TTAAT FT (=t § T FLAT | T 4 TAAT T UF Tool § T FHAT

FETE A7 3 o= AT ST F I A9 g | g TS 3 AT T UF
o= 4 O T SITar 2 a7 3 Aae 9% i T GE ATl 8 | Jrael f
(1) 36

(2) 92

(3) 40

(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 8 Question Id : 8024371198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394

Pathfinder Academy



A tower is 50 m high. When the sun’s altitude is 45°, the shadow
of the tower is x m shorter compared to the case when the
altitude is 30°. The value of x is

(1) 50(+/3 —1)
@ 50(v/3 + 1)

(3)50/(V/3)
(4) 503

Options :

8024374789. 1
8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 8 Question Id : 8024371198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TF HATE &t Sare 50 #1. § | & qF 45° &t S=TE L gar g ar
e Fit g T ¥ 300 Fit F9TE B Y gerr F x 7 I Eret
Tl XHTAN...E

(1) 503 —1)

(2) 50(vV3 + 1)

(3) 50/(V3)
(4) 50V3

Options :

8024374789. 1
8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 9 Question Id : 8024371199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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The year BP, in the context of radiocarbon dating, is defined as
Years (BP) = 1950 — Years (AD)

An object from the Harappan site was dated to be 3050 BC. Its
age in years (BP) is

(1) =5000
(2) —1100
(3) +1100
() +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 9 Question Id : 8024371199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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a9 BP, YRFmehtae Ay [Mei<or aae i & 929 H, 39 g 9
afrefie 2 @ (BP) = 1950 — &t (AD)

ST & T F UTH UH g+ =t arg 3050 BC fFaiiva gs | ot
a9 (BP) #...8 |

(1) =5000
(2) =1100
(3) +1100
(4) +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which of the following months in 2021 will have the same
calendar (the same days and dates) as that in Sept 20207

(1) March

(2) April

(3) November
(4) June
Options :
8024374797. 1
8024374798. 2

8024374799. 3
8024374800. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

F9 2021 ¥ = O o 55 wEi= 71 Feiey a9 2020 F Fraee gge F

3 = oo oo
FAST & TH 2T (T2l (2, T51 =A%) ?

(4) ST
Options :
8024374797. 1
8024374798. 2
8024374799. 3
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8024374800. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Find the value of x at which the given straight line crosses the
X-axis.

{3.6)

M1.2

(2) 1.5

(3) 2.2
(4) 1.7

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Sl & T HTET 3T X - FF FI Fedl 5, qgl X FHT AT TTH ST

L (3,6)

(1.-2)

4.2
(2) 1.5
(3) 2.2
(4) 1.7

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Five persons A, B, C, D and E form a queue. C and E are next to
each other. A has one person ahead of him and has at least one
person separating him from B. Which of the following statements
is certainly true?

(1) A and D are next to each other
(2) A and E are next to each other

(3) D and E are next to each other

(4) B and C are next to each other
Options :

8024374805. 1

8024374806. 2

8024374807. 3

8024374808. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



7= AW A B, CCDTTFETHF Fa aATd 2 ICTTF ETH-T 2 | A
F AT % A (<h g, TAT I9% AT B F A9 § FF § FH T =416 3
M A FA-ATFI Mg =TT TF 5 ?

(1) A &= D IT99-977 2 |

(2) A &7 E T-TT £ |

(3) D &T E 99T £ |

(4) B &= C -7 £ |

Options :

8024374805. 1
8024374806. 2
8024374807. 3
8024374808. 4

Question Number : 13 Question Id : 8024371203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which of the following graphs qualitatively show(s) the function

§ =07
(A) (B) (C)
B ~ !

X X X

(1) B and C but not A
(2) Aand B butnot C

(3) Only B
4 A, BandC

Options :

8024374809. 1
8024374810. 2
8024374811.3
8024374812. 4

Question Number : 13 Question Id : 8024371203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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ey & & FIF-T7(F) TTH TOTHF =T T FAOT y = x2 FT I9TAT(IAT)

(8)?
A B ©)
g . 5
X X X

(1) Bma C o= AFZET
(2) ATE B ¥ C 7T

(3) #= B
(4) A,BTAC

Options :

8024374809. 1
8024374810. 2
8024374811.3
8024374812. 4

Question Number : 14 Question Id : 8024371204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Four babies born in the month of April 2019 are randomly selected.
The probability that at least two of them will have the same date of
birth is,

(1) 81.2%

(2)18.8%

3) 13.7%

(4) 86.3%

Options :

8024374813. 1
8024374814.2
8024374815. 3
8024374816. 4

Question Number : 14 Question Id : 8024371204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 2019 F T | T=T BT 4 T91A T ATg=wE €T F AT AT JT4T
2| SHE T FT T FH 2 o9t FF TVHTSATE UF 5 oA il UTiawar .

=

(1) 81.2%
(2)18.8%
(3) 13.7%
(4) 86.3%
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Options :

8024374813. 1
8024374814. 2
8024374815.3
8024374816. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A chord AB in a circle subtends an angle of 30° at the circumference.
Then the angle subtended at the circumference by a chord of twice
the length of AB is

(1) 450

@ 600
(3) 900

(4) 1200
Options :
8024374817. 1
8024374818. 2
8024374819. 3
8024374820. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T T § UE a7 AB T 9% 300 T K0T AAT FIAT § | A AT
AB #T & AT @aTE T SHAT ZTT TS 9% AATA (60 ST ATAT 0T ..
Zl

(1) 450

(2) 600

(3) 900

(4) 1200

Options :

8024374817. 1

8024374818. 2

8024374819. 3
8024374820. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
In a race, the winner beat the second placed by 10 m and the third

placed by 100 m. The second placed beat the third placed by 91 m.
Assuming that the speeds of the runners remained unchanged
throughout the race, the length of the race track was

(191000 m

(2) 900 m
(3) 910 m

(4) 909 m

Pathfinder Academy
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Options :

8024374821. 1
8024374822. 2
8024374823. 3
8024374824. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 3 |, FASAT T 0 97 a7 =6 & 10 #. $i7 fraw w9 T
FT 100 HT. T T4 & TE0aT7 2 | TAL T I¥ AT =A< S0e o479 T
F1 91 HT. T gEmaT 2 | TfR, 7ly avaent 7 AT T S 7 ateataa =,

1 e et 1 i oF 2

(1) 1000 m
(2) 900 m
(3) 910 m
(4) 909 m

Options :

8024374821. 1
8024374822.2
8024374823. 3
8024374824. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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A square of side 2 units contains two half circles as shown in the
figure.

The area of unshaded region inside the square is

(1) 3—m/2
(2) 4 —m/2
3) 3 —-m/4
44 —m/4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T 2 THTE OIT 1ol 9§ 2 A quTA g, st % ey & gatn
TAT S | A9 o AT A-grAiihd & FT HTAHA . 2 |

(1) 3—m/2
(2) 4 — /2
(3) 3—m/4
(4)4—m/4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Tha nairad har rhart nivae tha Par (Canita (GNP and naniilatinn nf a
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country from year 2000 to 2008. Given that
Per Capita GDP = Total GDP/Population
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The highest percentage decrease in the total GDP of the country
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(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T ST 17 AT Tt 297 &t, a7 2000 T 2008 @4 Ui =11 Tahed A
3ear (Per Capita GDP) T st (population) T germar 2 | &
T & - Wi =i Tl J9e] 3caT8 = Fed qdhed Ao ScI1E / STATT

15.
14.
13.

:f : m GDP per capita - B Population (in Million) 12

10. |
9 | 10
8. "
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(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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A 400 m wide river flows at 10 km/h. A man at point A wants to
cross the river. In still water he can row a boat at a maximum
speed of 20 km/h. Point B is exactly opposite A on the other
bank. If he wants to cross the river in the least possible time then
how far from B will he land on the other bank?

7

B

—r—10km/h
400 m )

A

(1) 200 m.
(2) 100v3 m.
(3) 0 m.

(4) 50 m.
Options :
8024374833. 1
8024374834.2
8024374835. 3
8024374836. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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T 400 ", ST A4S 10 Rt er Fram wagdr g Hg AT Us
TTF 721 977 F2A7 F12a71 2 | =97 91 9 5% =71+ 20 &.91./5er i1
T 7 AT =T TFar 2 | &g B T A uw g A F o A
g | I g FATh =IAdH T0T | 71 I FAT A1gaT g af 9g g B

o o o o
o=t g2 9% T TohATY 9% Tg =T 2

__TL:-I Ukll'lﬂl
1 O
A

(1) 200 =.
(2) 100V3 9.
(3) 0 .

(4) 50 .

Options :

8024374833. 1
8024374834.2
8024374835. 3
8024374836. 4
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Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a cycle of spread of the infection, each person infects 3 more
people. One third of the newly infected people take precaution
and do not infect other people. No infected person dies or gets
cured until the end of third cycle of the spread. Starting with one
infected person, the number of people newly infected in the third
cycle is

(1) 12
(2) 15
(3) 27
(4) 30

Options :

8024374837. 1
8024374838. 2
8024374839. 3
8024374840. 4

Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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TS THAT F HATT % 99 °, ToAF FA<F 3 AT FTRAT Ff TH 0T F2d]
T AT HHIHT ARN J F TF (dgre aTagT=T 7@ g A7 gh70 ®T TR Ha

[ [

2t F2d | Fr oft IO =t e 9% F a9 9F T AF Frar g i

TEOIAT 2 | U FF o AT F0h A9 = § 97 TR iEa AT
T

Cd

fal

g.

(1) 12
(2) 15
(3) 27
(4) 30

Options :

8024374837. 1
8024374838.2
8024374839. 3
8024374840. 4

Part B Life Sciences

Section Id : 80243729
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 35

Section Marks : 70

Mark As Answered Required? : Yes
Sub-Section Number : 1
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Sub-Section Id : 80243743
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following options represents a series of the amino acids with
the decreasing pKj; values of their side chains?

1. Arg Lys Cys His
2Lys Arg Cys His

3. Lys Arg His Cys
4 Arg Cys Lys His

Options :

8024374841. 1
8024374842.2
8024374843. 3
8024374844. 4

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

f=ifed &1 1 td faded ursd J@ars & ged gU pk, IF1 & HHl ol & Uh
HghH B Gidl 87

1. Arg Lys Cys His
2. lys Arg Cys His
3. Lys Arg His Cys
4. Arg Cys Lys His

Options :
8024374841. 1

Pathfinder Academy
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8024374842.2
8024374843. 3
8024374844. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The mechanism of oxygen transport by hemocyanin (containing Cu) is described
by cu’*.cul*+ 0; 2Cu?* 0F

Which one of the following techniques can be used to monitor the change in the
oxidation state of copper?

1. Mass spectrometry

2. Circular dichroism

3. Absorption spectroscopy
4. Fluorescence spectroscopy

Options :

8024374845. 1
8024374846. 2
8024374847. 3
8024374848. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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SHEEA (Cu god) BRT oo uikded & fbanafy & 39d gRI arvid faedr
SRl Cyl*.Cul* + 0, = Cu?*.0Z-.Cu?*

frifeed @ € U dep-iie B STMFTdld & Sfeicheor el H ggad ol
Jgdlithd @ & [o1d [chdl ol 9hdl & ?

1. GO WaemiHfd
2. giig giqauiar

3. YN0 W THa]
4, yiaeifta Saeidt

Options :

8024374845. 1
8024374846. 2
8024374847. 3
8024374848. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A stoichiometric mixture of @ and f anomers of D-glucose in water exhibits

1. net optical rotation proportional to the sum of the optical activities of each
anomer

2. no optical activity as the signs of optical rotation are opposite and they cancel
each other

3. no optical activity as the & and f anomers exist in the linear forms that are

optically inactive
4. no optical activity as they form a racemic mixture

Options :
8024374849. 1

Pathfinder Academy
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8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

DD D o TUT g TR B U THEHID U 30 urfi H giid & |

1. TS TIR! & UeRig SEead! & 99 & Sdlias $d yau guH

2. Bis i UbRg sEEay Ta1 el dife Yaur guiH o ddbd [Audid & durd U@
TR P Ay B ed g |

3. ®l5 Ht UG ddGAT Tel g1 difd o U g TR MW@d Weal |
{2 Bid € aY USIRig €9 9 [Athyg 8id 51

4, Dl 1 YRR SRGY Tl 81 Hifd d U A [HH0 §41d &

Options :

8024374849. 1
8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 24 Question Id : 8024371214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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The rate constant for conversion of a substrate into the product is 707 577 while
the reverse rate constant is 70°% 7 . An enzyme enhances the rate of this reaction
by 100-fold. The equilibrium constant for this enzyme-catalyzed reaction is

1. 100

2. 10000
3.10

4. 1000

Options :

8024374853. 1
8024374854. 2
8024374855. 3
8024374856. 4

Question Number : 24 Question Id : 8024371214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

% B B UG H T B 6L TP 1045+ & T8 I&pH &2 Hadi®
10-6s- & | U UaITeH SHHar 31 & B 100-T1 961 adl & | 39 TagH-3aiRd
g &1 9 Fadid § |

1. 100

2. 10000
3. 10

4, 1000

Options :

8024374853. 1
8024374854. 2
8024374855. 3
8024374856. 4
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Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT involved in the formation of lipid rafts?

1. Sphingomyelin

2. Cholesterol

3. Glycolipid

4. Phosphatidylserine

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

fFifed @ 91 U fafts 981 & HHiu H 2idd 781 gid 82

1. SR ATHEER
2. Pl

3. TGS
4, BB EaHRA

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following statements about human LINEs (long interspersed
nuclear elements) is FALSE?

1. LINEs are located primarily in euchromatic regions.

2. LINEs cannot encode all the products needed for their retrotransposition, and
are dependent on SINEs for some  components.

3. Of the three human LINE families, LINE-1 is the only family to have actively
transposing members.

4. Active LINE-1 elements possess an internal promoter  located within the 5
untranslated region.

Options :

8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

HI-d LINEs (long interspersed nuclear elements) & Yo ¥ [AHiied o 9t

HYH TTd &7

1. LINEs J0ad1 gehiafed uaEl § oafyd s g

2. 30 TR & foU LINEs T S0 ® JG! & Bed ol ®Y gddl &, adl
$S Ueh| b [olU SINEs R R eldr 51

3. {9 LINE &1 o9 470! o, $5ae LINE-1 9oft T uafiaRor 9fhd 9esg Ul 9rd 2|

4. GithY LINE-1 Tl o 5' HSIATC] Ual H U iR I-I-d SaRYd gidl ¢ |

Options :
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8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Myosin molecules that assemble into bipolar filaments in the muscle are

1. Myosin |

2. Myosin
3. Myosin IV
4. Myosin V

Options :

8024374865. 1
8024374866. 2
8024374867. 3
8024374868. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ARG Sy o fob Frqu=ial & fydt agefl § weiHa sid § |

1. AARH |

2. AEfEA
3. AEfEE v
4. FEARE VY

Options :
8024374865. 1
8024374866. 2
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8024374867. 3
8024374868. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements about R-banding of metaphase chromosomes
is FALSE?

1. The heat treatment preferentially denatures the GC rich DNA to produce R-
banding pattern.

2. This is essentially the reverse of the G-banding pattern.

3. The R bands are Q (quinacrine) negative.

4. The DNA of R bands generally replicate early during the S-phase of cell cycle.

Options :

8024374869. 1
8024374870. 2
8024374871. 3
8024374872. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. SSHIGH JE=A01 GC Y& DNA D fddhd ®dl & S8y R-di7 W&y 3d- sidl
gl

2. Id H U G-4S7 WEY @I [quiid B

3. R Ufg a1 (659) Q (@Tio) BUTHS &l 5

4. R UfETl (4=59) & DNA BT AT S- TR0 & GRF deal Hiadaid oidl o

Options :

8024374869. 1
8024374870. 2
8024374871. 3
8024374872. 4

Question Number : 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the snRNAs given below base pairs with 5' splice site of pre mRNA?

1,105
2. U,
3, 1
4, Us

Options :

8024374873. 1
8024374874.2
8024374875. 3
8024374876. 4

Question Number : 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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fifded @ 9T T® snRNAs J8 mRNA @ 5 THE=IT RIS & 91 &§R-JRId gial g7

1. Uy
2. Uz
3. Uy
4. Us

Options :

8024374873. 1
8024374874. 2
8024374875. 3
8024374876. 4

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following RNAs possesses the peptidyltransferase activity?

1. tRNA

2. 35 rRNA
3. 165 rRNA
4, 235 rRNA

Options :

8024374877. 1
8024374878. 2
8024374879. 3
8024374880. 4

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. tRNA

2. 55 rRNA
3. 165 rRNA
4. 235 rRNA

Options :

8024374877. 1
8024374878. 2
8024374879. 3
8024374880. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements about GAL gene expression is FALSE?

1. GAL4 is a positive regulator of GAL genes

2. The UAS region that regulates the GAL gene expression harbors short, phased
AT repeats every 10 base pairs

3. GAL8O is a positive regulator of GAL4

4. GAL80 is negatively regulated by GAL3

Options :

8024374881. 1
8024374882.2
8024374883. 3
8024374884. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Pathfinder Academy
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Correct Marks : 2 Wrong Marks : 0.5

GAL SfF @ sficdfad & deH # FHildd & 91 U &Y 7Ted &7

1. GAL4 GAL WiF &1 Ut YHRIHES HAES ¢ |

2. UAS W& S fb GAL S @1 SHfieaidd @l fHai-id S & 395 Wdd 10 &R gl
TR 7Y IRUES AT TRIE 8l &

3. GALS0 GAL4 &1 Uh U RIS HUHs 8|

4. GAL80 GAL3 gRI 7®RIHES diid U Faf<d gid1 &1

Options :

8024374881. 1
8024374882.2
8024374883. 3
8024374884. 4

Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UV- induced DNA damage causes advancing replication forks to stall. To avoid a
collapse of these stalled replication forks the cell uses:

1. non-homologous end joining
2. lesion bypass

3. mismatch repair

4. base excision repair

Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4

Pathfinder Academy
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Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UV- URd DNA &ifd Wt Widdiaa= [9Rmansii & 3eX1d & RU §dl & | 39 38X
ST Hidpiaa- fa=mal & a1 &1 e & iy SIS ST & B

1. IHHEG RRTS2E
2. & JU&T

3. 99 & GuUR

4, &R Jede &fid gUR

Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4

Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following amino acids is characteristic of and is conserved in
response regulator of plant two-component systems?

1. Aspartic Acid
2. Glutamic acid
3. Tyrosine
4. Histidine

Options :

8024374889. 1
8024374890. 2
8024374891. 3
8024374892. 4

Pathfinder Academy
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Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UIey fg-ued YoMl & fshan (4amae H Feifdd o 91 U THiAT 3p fafare
& Y TRiE 87

1. T D
2. TCTiE® 3k
ERETUEE
4, B3N

Options :

8024374889. 1
8024374890. 2
8024374891. 3
8024374892. 4

Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following signaling molecules is NOT a protein or a peptide?

1. Transforming growth factor o (TGF-a)
2. Erythropoietin

3. Granulocyte colony stimulating factor
4. Epinephrine

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4

Pathfinder Academy
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Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

fifhd B 11 T Hapa 210 U Ui 11 U UwT5 S &Y &2

1. TURRU gfg PR o (TGF-¢ )

2. TRyEfe
3. YRS BIAH IS HR®

4, UfuATeA

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT an extracellular matrix protein?

1. Keratin

2. Laminin

3. Collagen
4, Vitronectin

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. B
2. THIAA
3. Dico
4. faeHfdes

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If you require to generate anergy in T cells, which of the following conditions will

you use?

1. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28

2. Stimulate naive T cells with antibodies that bind only the T cell receptor

3. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28
in presence of IL-4

4. Permit naive T cell interactions with activated macrophages in presence of IL-4

Options :

8024374901. 1
8024374902. 2
8024374903. 3
8024374904. 4

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. 99 T-@if@re & ufcral ¥ uftg & ot & 1-3iP@ Jfg aur co2s gHf ©
HEG Bl 6 |

2. 9 T-difrdbre & ufaRel § Uitd &% ol & Pad T Sifie Uel 9 & s g
H

3. 19 T-DI@1ef S ufcRal T Uid & &1 & 1L-4 &1 Sufifa | 1 S aet
dYT cD28 gl & 3Mag 8id 2

4. 919 T-DIBIH BT AT IL-4 BT U H Gihadd HeTHE®I U §H B

AT TG B

Options :

8024374901. 1
8024374902. 2
8024374903. 3
8024374904. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In echinoderms, sperm direction is provided by

1. Calcineurin
2. Bindin

3. Resact

4, EBR1

Options :
8024374905. 1
8024374906. 2
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8024374907. 3
8024374908. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

. SWIgAISHl o, BRIV AFIGRH 34d RI UM 6l 9l & |

1. HdgRA
2, o=

3. ffae
4. EBR1

Options :

8024374905. 1
8024374906. 2
8024374907. 3
8024374908. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If an early cleavage stage wild type Drosophila embryo is injected with bicoid

mRNA at the posterior pole then

1. head structures develop at posterior pole, while the same is inhibited at
anterior pole

2. head structures form at both poles

3. head structures are not formed at posterior pole due to presence of posterior
morphogens

4. duplication of usual posterior structures occurs

Options :
8024374909. 1
8024374910. 2
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8024374911. 3
8024374912. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

¢ U FOUREY  SiFe UINHS SHE Al YU & URd ¥R H dRdis
mRNA I I SH] §Y df

1. U9 DR W %@ 13l &1 [aH9 gFT, 98 39 BR IR g8 fafdd ghm|
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Options :

8024374909. 1

8024374910. 2

8024374911. 3
8024374912. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the blastomeres of a 4-celled sea urchin embryo are isolated, each blastomere

can form a pluteus larvae. This is an example of:

1. autonomous specification
2. conditional specification
3. determination

4. mosaic development

Options :
8024374913. 1
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8024374914.2
8024374915. 3
8024374916. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374913. 1
8024374914. 2
8024374915. 3
8024374916. 4

Question Number : 40 Question Id : 8024371230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following plant homeotic genes does NOT encode MADS-
domain transcription factor involved in floral organ specification?

1. AP2

2 APT

3. AP3/P1
4. AG

Options :

8024374917. 1
8024374918. 2
8024374919. 3
8024374920. 4

Question Number : 40 Question Id : 8024371230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. AP2

2 AP1

3. AP3/P1
4, AG

Options :

8024374917. 1
8024374918.2
8024374919. 3
8024374920. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which of the following is a plant secondary metabolite?

1. Kaurenoic acid
2. Abietic acid

3. Proline

4, Pyruvate

Options :

8024374921. 1
8024374922. 2
8024374923. 3
8024374924. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374921. 1
8024374922. 2
8024374923. 3
8024374924. 4

Question Number : 42 Question Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following metabolites formed during Calvin-Benson cycle in
chloroplast is involved in starch biosynthesis and can also be transported to

cytosol?

1. Triose phosphate

2. Glyceraldehyde-3 phosphate
3. Fructose-6-phosphate

4. Ribulose 1,5-bisphosphate

Options :

8024374925 1
8024374926. 2
8024374927. 3
8024374928. 4

Question Number : 42 Question Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374925. 1
8024374926. 2
8024374927. 3
8024374928. 4
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Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following essential plant mineral nutrients complexes with
mannitel, mannan, polymannuronic acid, and other constituents of cell wall?

1. Silicon

2. Chlorine

3. Manganese
4, Boron

Options :

8024374929. 1
8024374930. 2
8024374931. 3
8024374932. 4

Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374929. 1
8024374930. 2
8024374931.3
8024374932. 4
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Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following plant proteins is targeted by HC-toxin produced by
the maize fungal pathogen Cochliobolus carbonum?

1. H-ATPase

2. Histone deacetylase
3. ACC oxidase

4, MTA nucleosidase

Options :

8024374933. 1
8024374934. 2
8024374935.3
8024374936. 4

Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374933. 1
8024374934.2
8024374935. 3
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8024374936. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following causes constriction of blood vessels?

1. Carbon monoxide

2. Nitric oxide

3. Endothelin - 1

4. Atrial natriuretic peptide

Options :

8024374937. 1
8024374938.2
8024374939. 3
8024374940. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
8024374937. 1
8024374938. 2
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8024374939. 3
8024374940. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one is NOT the function of P-cells in the collecting ducts?

1. Na™ reabsorption
2. K¥ secretion
3. H20 reabsorption
4. H™ secretion

Options :

8024374941. 1
8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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8024374941. 1
8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT produced by a-amylase digestion of ingested
amylopectins?

1. Glucose

2. Maltose

3. Maltotriose

4, a -limit dextrins

Options :

8024374945. 1
8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
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8024374945. 1
8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

What kind of inheritance is indicative in the pedigree chart shown below?

1. Y - linked

2. X-linked dominant

3. X-linked recessive

4. Autosomal dominant

Options :

8024374949. 1
8024374950. 2
8024374951. 3
8024374952. 4
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Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
8024374949. 1
8024374950. 2

8024374951. 3
8024374952. 4

Question Number : 49 Question Id : 8024371239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following is a correct statement about the difference between a
F* cell and Hfr cell?

1. In F*cell F factor is an integral part of bacterial chromosome, while in Hfr cell F
factor is present as an episome.

2. F7 and Hfr are synonymous.

3. In F* cell a bacteriophage carries F factor, while in Hfr cell F factor is an
integral part of bacterial chromosome

4. In F* cell F factor is in the form of an episome while in Hfr cell, F factor is
integrated into the bacterial chromosome.

Options :

8024374953. 1
8024374954. 2
8024374955. 3
8024374956. 4

Question Number : 49 Question Id : 8024371239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
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8024374953. 1
8024374954. 2
8024374955. 3
8024374956. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Mutation is essential for genetic variation. Which one of the following events can
lead to wvariation amongst the gametes produced by males of Drosophila
melanogaster?

[Crossing over does not occur in D. melanogaster males.]

1. Segregation

2. Imprinting

3. Recombination

4. Independent Assortment.

Options :

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Cytoplasmic male sterility (CMS) in plants is caused by mutation in the
mitochondrial genome. CMS can be restored by a nuclear gene, restorer of
fertility (Rf), which is a dominant character. If a male sterile pea plant is pollinated
by a fertile male pea plant with Rf in heterozygous condition, the progeny
obtained will have

1. all male sterile progeny

2. all fertile progeny

3. 50% of the progeny fertile and 509 male sterile
4. 75% of the progeny fertile and 25% male sterile

Options :
8024374961. 1
8024374962. 2
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8024374963. 3
8024374964. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374961. 1
8024374962. 2
8024374963. 3
8024374964. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which among the following states has the highest forest cover in terms of

percentage of geographical area?

1. Chattisgarh

2. Uttarakhand

3. Madhya Pradesh
4. Odisha

Options :
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8024374965. 1
8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Yifeis & & Uiderd o e H it d uexll | 9 foud walfte o1 &7 82

1. Baildlg
2. 3aNIE s
3. 99 Yo
4. 354

Options :

8024374965. 1
8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following phytopathogens has predominantly necrotrophic mode of
colonization?

1. Phytophthora infestans
2. Erwinia spp.

3. Erysiphe pisi

4. Puccinia graminis

Options :
8024374969. 1
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8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374969. 1
8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 54 Question Id : 8024371244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following approaches is INCORRECT in classifying organisms
from kingdom Animalia?

1. Spicules were used as a primary criterion for the classification of phylum
Porifera

2. Protostomes were classified into two major lineages; Lophotrochozoans and
Ecdysozoans

3. Hemichordates were placed in same superclass as Echinoderms because both
have ciliated larvae

4. Ambulacrians included Echinoderms and Hemichordates

Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 54 Question Id : 8024371244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a population showing exponential growth, per capita growth rate will:

1. decrease as population size increases

2. increase as population size increases

3. remain constant as population size increases

4. increase initially and then saturate at large population sizes

Options :

8024374977. 1
8024374978. 2
8024374979. 3
8024374980. 4

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374977. 1
8024374978. 2
8024374979. 3
8024374980. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Mycorrhizal fungi are associated with a large variety of plant species. The diagram
below shows the cost-benefit curves from individual plants with or without
mycorrhizal fungi associated with the roots across a soil nutrient concentration

gradient.

Plant without mycorrhizal fungi

Plant size

Plant with mycorrhizal fungi

>

Soil nutrient concentration

Which one of the following options best describes the association between the

plant and mycorrhiza when soil nutrient concentrations are high?

1. Parasitism

2. Mutualism

3. Competition

4. Commensalism

Pathfinder Academy
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Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4
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Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following represents the largest outflux of nitrogen from the

atmospheric reservoir?

1. Biological nitrogen fixation

2. Nitrogen fixation due to lightning

3. Fixation on account of fossil fuel burning

4. Fixation by Haber's process for fertilizer production.

Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.5

Identify the plot that depicts the change in metabolic rate of an endotherm with

respect to change in environmental temperature
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Environmental temperature *C

2
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0 10 20 30 40
Environmental temperature °C
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(]
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Options :
8024374989. 1
8024374990. 2

8024374991. 3
8024374992. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
8024374989. 1

8024374990. 2
8024374991. 3
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8024374992. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The following statements describe the outcomes of genetic drift:

A. Genetic drift can eliminate alleles.

B. Genetic drift can be associated with population bottleneck.

C. Genetic drift is not observed in populations that increase in size, once they
grow through a bottleneck.

D. Genetic drift can be associated with founder effect.

Which one of the following combinations represents all correct statements?

1.A,Band C
2B CandD
3ABandD
4 A CandD

Options :

8024374993. 1
8024374994. 2
8024374995. 3
8024374996. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Fifded By edfie fagd- & gikomel @f aftfd &= &
A, AR faaeH gafdded! & g &2 Tbdl g
B. M-dfRI® fddeH &I o-Hea A vH & Ty il o Ydbdl o

C. HERE faaem 39 s ¥ ufaféa 76 el & & & '@ sR ¥e i ¥
HIT dedHR ABR H dfe U Hdl o

D. a1 fadcH &l BRIS UHId & Ty e off Gbdl o
ifed o W te A g+ 981 Hu=l B gl a2

1A BdYIC
2.B, CdUID
3.ABAUID
4 A CdYID

Options :

8024374993. 1
8024374994. 2
8024374995. 3
8024374996. 4

Question Number : 60 Question Id : 8024371250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Examples of antibiotic resistance highlight important features of natural selection.
Which of the following statements is NOT true?

1. Evolution by natural selection is progressive, it makes individuals ‘better’.

2. Natural selection acts on individuals but it is populations that  change with
time.

3. Natural selection does not cause genetic changes in individuals

4. Natural selection acts on phenotype

Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4

Question Number : 60 Question Id : 8024371250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

icrefidl & ufd UfdRIe® &mdr=il ©f Ieeul Uidhidd 944 & Heayul fa=udrsl ol
ifard Bl & | FEifdd B9 T &yH Uel T8l 87

1. Wi Tds 99 & gRI sil® [gord Wiid=id g, T8 WiEl & dgar §-dl ¢ |
2. Ui 90 UIforl O &1d &3dl & URd 999 & 91y gaipal uRafdd sidl 2|
3. Ui 98- Wiforl § af¥e uRdad- 3= Jel &idl 6

4, UIpfad 99 T&i0T U&U IR &1 $dl &

Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4
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Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following genomes is most appropriate to determine hybrids in

plants and animals?

1. Nuclear

2. Mitochondrial

3. Chloroplast

4. Mitochondria and chloroplast.

Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4

Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Fifed ®F 91 Ud HollH eyl oyl sigell H 9ox & MuRol H gaiidd Sudad 67

1. Ediyg

2. TFABUDIT

3. gid da@

4. GARIOBT dYT gRd dd

Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4
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Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The common cuckoo, a parasitic bird, lays eggs in the nests of other bird species.
Soon after the cuckoo egg hatches, the chick shoves the nest owners’ eggs out of

the nest. This is an example of:

1. habituation

2. imprinting

3. innate behaviour

4. operant conditioning

Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UTYRY] BT, U WRIGsildl Uall, ger uall Ueiifadl & 9ieal § s ¢d g | 3{vsi U
DI & gl & HeH & g3 a1g, ol Ui & HIelb o US| DI Uk G
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1. Al
2. fa=A

3. vi-Hwvfld oddglx
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Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following approaches/markers would be typically used for
discovering polymorphism between two closely related accessions of a crop
plant?

1. AFLP
2. GBS
3. 55R
4. RAPD

Options :

8024375009. 1
8024375010. 2
8024375011. 3
8024375012. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. AFLP
2. GBS
3. 55R
4. RAPD

Options :

8024375009. 1
8024375010. 2
8024375011. 3
8024375012. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Given below are a few approaches/techniques used in the analysis of plants:

A. Phenotype linked to the marker gene.

B. PCR using primers specific to the host genome.

C. Southern hybridization

D. PCR using transgene-specific primers.

Which one of the following combination of approaches/ techniques can be used
to differentiate between transgenic and non-transgenic plants of a particular
variety if the site of insertion is unknown?

1. B and C only
2. A and D only
3.ACandD
4. ABandC

Options :
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8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ureul & fawcyn ¥ Iugn U S aTd $8 WiafE! /Al of ik guifar 74 8

A Te® 9 9 319G A&UIEy

B. Giftia Toid fafkmee Jus™a! ¥ PCR

C. UG ereiasgara

D. URwiA fafdme JushA®! ¥ PCR

ATl /e &1 Feifed ®H 9 U6 Hd U (939 USR & UIgd H UReiH! ayl
H-URSIHI & did faug &1 & U ugnT f&ar o 9@dl § 99 He3q &1 ®d

A B2

1. Had B YT C
2. Had ATUTD
3. A CTYUID
4. A BTYUC

Options :

8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 65 Question Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In the context of plant breeding and genetic engineering, which one of the
following statements is correct?

1. To achieve high expression level of a heterologous gene in a transgenic plant a
promoter of bacterial origin is often used.

2. F1 progeny derived by crosses between inbred lines with low genetic diversity
is more likely to show heterosis.

3. In Agrobacterium mediated plant transformation, always a single copy of the
transgene is inserted in the host genome.

4. Qualitative traits are typically characterized by discontinuous phenotypic
variation while quantitative traits often generate continuous phenotypic
variation.

Options :

8024375017. 1
8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 65 Question Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. Uch WReil-1 Uid § U [Auaad ofi- @ 3= siftroufdd Ui @3- o o amEmga
SHANvd® IGHd S~Ta® b1 SUAr Bidl ¢

2. e SRS fAfdadgad ofd: usd Haf & TR0 ° 39+ F1 gdfadl §
T3 5@ i 3= GHIET 81l o
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Options :

8024375017. 1
8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The total number of cells in 1 ml of a bacterial culture was estimated to be 2.7 x
10°. The culture was diluted 27-fold and 100 ul seeded per well of a 96-well plate.
What is the final cell number per well?

1.1 % 107
2. 2.7 x 10*
3,27 x 103
4.1x% 104

Options :
8024375021. 1
8024375022. 2
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8024375023. 3
8024375024. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

1 ml Siaiftad g o Sifidret &1 oo 9= 2.7 x 10° FAuiRd &1 74 | dadq
@l 27-TH1 TId [T 1 TUT UP 96-FUD wie H 100y, Ui PUS 3@ 41| Ufd
DUD HIADIH B U FBa1 I ghil?

1.1x 103
2.27 x 10%
3.27 x 10°
4.1x 10*

Options :

8024375021. 1
8024375022. 2
8024375023. 3
8024375024. 4

Question Number : 67 Question Id : 8024371257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



In a cloning experiment, a DNA molecule isolated as a Pst | fragment was inserted
into the Pst | site of a cloning vector that is 3kb in length. Digestion of the
CONFIRMED clones with Pst | resulted in the appearance of a single band
corresponding to 3kb in an agarose gel. Based on this information, what is the
probable size of the cloned fragment?

1.6 kb
2.1.5kb
3.3kb
4.45kb

Options :

8024375025. 1
8024375026. 2
8024375027. 3
8024375028. 4

Question Number : 67 Question Id : 8024371257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Ud ool UG 8, U DNA 3{U] &1 G401 U Pst | 32 ST fa5d1 711 a1 39T

IR U 3kb T Tl GaTed & Pst | =Y H b1 71411 JHITOIT &RiH| Bl Pst |

Y U U U d-5 @] U B3 ol [ WRIS ofdd H 3kb & ¥4 & | 3WRIad a1

& IR R, I T 7T 3 BT GG PR 1 BH?

1.6 kb
2.1.5kb
3.3kb
4.45kb

Options :
8024375025. 1
8024375026. 2
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8024375027. 3
8024375028. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements is TRUE?

1. Nick translation cannot be used for radio-labeling DNA fragments for use in
Southern hybridization

2. RACE can be used to obtain sequence information of the ends of a cDNA

3. In a 2-D gel electrophoresis for separating proteins, analytes are first separated
on the basis of their size and then on the basis of their pl.

4. AFLP markers are typically used to screen heterozygotes from homozygotes

Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following proteins produces a dark blue/purple color in the

presence of 5-bromo-4-chloro-3-indolyl phosphate and nitroblue tetrazolium?

1. Polynucleotide kinase
2. Alkaline phosphatase
3. B-glucuronidase
4. B-galactosidase

Options :

8024375033. 1
8024375034. 2
8024375035. 3
8024375036. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. TS B

2. Tehals BB

3. p-TIERIHS
4. p- TR

Options :

8024375033. 1
8024375034. 2
8024375035. 3
8024375036. 4

Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following sets of terms is matched correctly?

1. Fluorescence microscopy: Use of dyes that absorb and emit light of the same
wavelength

2. Confocal microscopy: Use of pinpoint illumination and detection apertures

3. Confocal microscopy: Use of pinpoint illumination and detection apertures

4. Gas Chromatography: Used for analysis of non-volatilized carbohydrate
molecules

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4
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Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. Bfaei G&aeRt: I9@! &1 ugi Sl i 9HF TUTe e & HoId &I G ayl
I Hd B

2. DFBIDA (GITH) YEHERI: Y55 UTit aul Ta GRS B IR
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Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4

Part C Life Sciences

Section Id : 80243730
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 80243744
Question Shuffling Allowed : Yes

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following statements were made to suggest the existence of an enzyme —
substrate complex.

A. At constant concentration of enzyme, the reaction rate increase with increasing
substrate concentration

B. An enzyme-catalyzed reaction has a maximal velocity

C. At constant concentration of the enzyme and substrate, an increase in the
reaction rate is observed.

D. An enzyme catalyzed reaction is not influenced by high substrate
concentration.

Which of the above statements suggest the existence of an enzyme — substrate

complex?

1. AandB
2.BandC
3.AandD
4. D only

Options :

8024375041.
8024375042.
8024375043.
8024375044.

AW O~

Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1. AdUIB
2.BdUlC

3 ATYUID
4. Hdd D

Options :

8024375041. 1
8024375042. 2
8024375043. 3
8024375044. 4

Question Number : 72 Question Id : 8024371262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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An enzyme catalyzed reaction comparing proton and deuteron transfer reactions
yielded the following kinetic data

kst [H], 7 70.7
K [H], mM 1.03
keat D], 577 10.3
K [D], mM 1.06

Which of the following represents the turn over numbers (M-’ s7) for proton
transfer, deuteron transfer and the kinetic isotope effect, respectively?

1. 68640, 9717, 14
2. 6864, 972, 7

3. 728210, 1091, 14
4. 68640, 9717, 7

Options :

8024375045. 1
8024375046. 2
8024375047. 3
8024375048. 4

Question Number : 72 Question Id : 8024371262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



U U=argH IRa ffshar st fr Uieq qur Sgei- ®IHRR Sffbarsd| @i o

keat [H], s77 70.7
Ki [H], mM 1.03
k.st [D1 577 10.3
Ki [D], mM 1.06

Fifeod 1 1 foecd HH : UleH  SIARU & [oE e+ 3fiae 91 (-1 1),
SYCH RIFIR 9T Tios ST ® THIE GRITdT o7

1. 68640, 9717, 14
2. 6864, 972, 7
3.728210,1091, 14
4. 68640, 9717, 7

Options :

8024375045. 1
8024375046. 2
8024375047. 3
8024375048. 4

Question Number : 73 Question Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The first step in the biosynthesis of valine begins with enzyme catalyzed

condensation of two molecules of pyruvic acid. If an equimolar mixture of
13CH;COCO0H and "2CH3COCOOH are used as substrates for the reaction, which
one of the following would represent the correct isotope incorporation pattern of

the pro-R and pro-S diasterectopic methyl group in valine?

50%
50%

75%
25%

25%
25%
25%
25%

75%
25%

“CH; (pro-R)
"2CH; (pro-R), !

BCH; (pro-R),
2CH; (pro-R)
CH: (pro-R),
"*CH; (pro-R)

2CH; (pro-R),
BCHs (pro-R),

3CH; (pro-R).
"2CH; (pro-R).

Options :

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

2CHa (pro-S)

3CH; (pro-S)

12CH;s (pro-S)
3CH; (pro-S)

'2CH; (pro-S)
BCHs (pro-5)
BCH: (pro-S)
'2CH: (pro-5)

BCH; (pro-S)
CH; (pro-S)

Question Number : 73 Question Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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pro-R 4T pro-s Wfdfdd! Bfadl Augd 99g & udle GaiHE 9434 & WEy
I GLidl &7

50% 13CHz (pro-R), 2GHs (pro-S)

1 50% 12GHs (pro-R), *GHs (pro-S)

5 75% 13CHs (pro-R), 2GHs (pro-S)
" 25% 12CHs (pro-R), *CHs (pro-S)

25% 13CHs (pro-R), 2CHs (pro-S)
25% 12CHs (pro-R), 13CHs (pro-S)
25% 13GHz (pro-R), 3CHs (pro-S)
25% 12CHs (pro-R), 2CHa (pro-S)

75% 12CHz (pro-R), 13CHa (pro-S)
95% 13CHz (pro-R), 13CHa (pro-8)

Options :

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The following disulfide bond containing peptide was digested using trypsin. How
many peptide fragments will be produced by the digestion?

MTPOQKAVILNSCTYRPYPM

NOQGCLKVCVNPCGRLTDEH
|

1. Three
2. Four
3. Five
4, Six

Options :

8024375053. 1
8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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MTPOKAVILNSCTYRPYPM

NQGCLKVCVNPCGRLTDEH
J

1.dH
2. dR
3.0
4, 8

Options :

8024375053. 1
8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 75 Question Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A 100 residue long protein has a single chromophoric residue (tyrosine). The UV
absorption of this protein and a homologous protein (also with a single tyrosine
residue) was monitored at 280 nm at different pH conditions. A plot of the
absorbance as a function of pH is shown below. The locations of the tyrosine
residue in the context of the protein sequences is also shown in the figure.

o A ! B
S |1 25 so 75 100 S|1 25 so 75 100
o ) [ T Y [ R | b O T Y I R
E Tyr by Tyr
=
2 2
3 i3 |
< i =1 !
6§ 7 8 9 10 11 12 6 7 8 9 10 11 12
pH pH

Which one of the following rationalises the difference in the two pH titrations?

1. removal of the hydroxyl group of tyrosine above pH 11

2. location of the tyrosine residue in the protein structure

3. pH dependent changes in the absorption in the polypeptide main chain
4. hydrolysis of the polypeptide as a function of pH

Options :

8024375057. 1
8024375058. 2
8024375059. 3
8024375060. 4

Question Number : 75 Question Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Ud 100 3{d4d ard UIdH H Ush Udhdl quiHcd 3faad (SISIF) g1 39 UIdH &l aul
et UidH (S off te tea IifE ofaga §) @ uv ERINY it pH
gRfRufal ® 280 nm TR Sf@aliithd a1 4T | HIeH & Hg@H & TaH H eiRA
3Hagd @& wH =it sl d e mn g |

o A ! B
S |1 25 so 75 100 S|1 25 so 75 100
<o 11 A [ T (RN R
g Tyr by Tyr
=
A 2
f: i3 |
- ! 2 i
6§ 7 8 9 10 11 12 6 7 8 9 10 11 12
pH pH

f=ifed ®1H W U fadbed &l pH URad-r o fafly=ar &1 gfdasm o axdl & ?

1. pH 11 & SR ERIME & oI G &I HaRl
2. Ui & WEU H e 3add &1 ®IH

3. UTeiU@Tg e g% yaal § pH R sra=iyor o uftad—
4. pH @ Us YD & S UICULISS Bl Scl-HUge-

Options :

8024375057. 1
8024375058. 2
8024375059. 3
8024375060. 4

Question Number : 76 Question Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The 15 base-paired nucleic acid molecule shown below is dissolved in an aqueous
buffer of pH 7.3.

5"-A G U
A

GGA = 1
3'-U C cC

uc UAUCGU G-
UG UAUAGCAC-5"
Which one of the following statements is INCORRECT?

1. It can be a double-stranded DNA molecule in a B-form helix
2. It can be a double-stranded DNA molecule in an A-form helix
3. It can be a double-stranded RNA molecule in an A-form helix
4, It can be double-stranded RNA molecule in a B-form helix

Options :

8024375061. 1
8024375062. 2
8024375063. 3
8024375064. 4

Question Number : 76 Question Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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4 c=Ild T 15 &R-gH fddd 3 DUl Bl U pH 7.3 & oaiig 34Y faRieh d

o 7T
5"-AGUUCGGAUAUCGU G-3'
3'-UCAUGCCUAUAGCA C-5’
ﬁmmﬁ:rmwfﬁmnﬁﬂ%?

1. 98 U B-3HHEU HUSTHl H fg-I5ed DNA 0] 5l Ubd o
2. U5 U A- 3MHEU pusdl H fg-Isel®d DNA 31U I ¥dhd ol
3. U8 U A- 3MHEU pusdl | fg-I5sl® RNA U 51 U o |
4. U8 Ud B-3HUEU HUSTH H [g-I5e[d RNA 31U] 5l Udhd o

Options :

8024375061. 1
8024375062. 2
8024375063. 3
8024375064. 4

Question Number : 77 Question Id : 8024371267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following statements were made about sex determination in Drosophila
melanogaster:

A. It is achieved by a balance of female determinants on the X- chromosome and
male determinants on the autosomes.

B. A Drosophila with 0.66 value of X:A ratio would develop intersex type.

C. Due to noninvolvement of ¥ chromosome in sex determination process, XO
Drosophila develop as normal fertile male.

D. The high value of X:A ratio facilitates activation of feminizing switch gene Sex -
lethal (sxi).

E. Sex specific expression of sxl causes selective activation of dosage
compensation genes in female Drosophila.

Select the option with combination of all correct statements.

1.A B E
2 A B D
3.B,CE
4B,C D

Options :

8024375065. 1
8024375066. 2
8024375067. 3
8024375068. 4

Question Number : 77 Question Id : 8024371267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A. T8 X-TURA R Hiel MyRe! qun HiREl R R FuRe! & Uh ddem 9 Iuifeid
[CRIEIGIE

B. X:A 3-]UTd & 0.66 Hcd dIdl Udh Sigl/ e Ues Aeafeiill &y H [ fd ghm|

c. fein FufRo ufsean 5 v uRgE @1 sgHIRTar & &R, X0 S/FaraEg
SIHHI&H R o fad e g |

D. X:A 3fJUTd @1 3ed Hed HIGIHR® e S [AH1-9Tdl (Sex-lethal) (sx) & Gfchgul
I YH Bl B

E. sxl @1 Teiv1 fafkree siftroafad Arar s/gider | 1T FER0 Ui o Sl &
UNTHS Gihdu & RS a-1dl g

vt Te! dy=l & 9d ard [dHed &1 995 B

1.A B E
2 A B D
3.B,CE
4B,C D

Options :

8024375065. 1
8024375066. 2
8024375067. 3
8024375068. 4

Question Number : 78 Question Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following statements are made about KDEL receptor.

A. KDEL receptor is found in COPI vesicles

B. KDEL receptor affinity for KDEL sequence is high at higher pH

C. KDEL receptor is synthesized on the ER

D. KDEL receptor is present in the ER and Golgi

Identify the option that contains all correct statements about the KDEL receptor.

1. A and B only
2 A B C
3.A,CD
4. Cand D only

Options :

8024375069. 1
8024375070. 2
8024375071. 3
8024375072. 4

Question Number : 78 Question Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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KDEL g1 o daH H ¥ &y a1 71|

A. KDEL U181 COPI GfedmTsii & R Sl & |

B. KDEL WTgl 1 KDEL 3RIehH & Ufd =[dl 3=k pH R Sifid sl & |
C. KDEL JTE ER R URafa eIt 2 |

D. KDEL JT81 ER TY1 TMTesil § U W1 © |

KDEL U861 & G H G 981 ®yA! ardl fdded &1 UgdaH &2 |

1. ATl A TUTB

2 A B C
3.3ACD

4. Hdd C YT D

Options :

8024375069. 1
8024375070. 2
8024375071. 3
8024375072. 4

Question Number : 79 Question Id : 8024371269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following figure represents the growth curve of wild type E. coli grown in a
medium containing both glucose and lactose.

Bacterial
density
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2 4 6 B
Time in h

In E. coli, the catabolite repression of lactose operon by glucose has been
explained by the different levels of cAMP in presence and absence of glucose.
This model was challenged and experiments showed that catabolite repression
occurred because the activity of lactose permease was inhibited in the presence of
glucose. Considering the second model, which one of the following plots correctly
represents the growth pattern of a mutant E. coli with a loss of function mutation
in the lac/ gene growing in a medium containing glucose and lactose?

1.
Bacterial|
density
1 | | 1
| 1 1 1
2 4 6 8
Time in h
2.
Bacteriall
5 density
1 1 1 |
|| | | ]
2 4 6 B8
Timein h
3.
Bacterial]
density
3.
1 | 1 1
| ] ] ]
2 4 6 B
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Timeinh

4.
Bacteriall
density
2
| 1 1 l
] L] ! }
2 4 6 B
Time inh
Options :

8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 79 Question Id : 8024371269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fifoed SRE TS quT dideis &l J 4o Us Yae- A1 8§ g UUeU £ coli &
g ar i |

Bacterial
density

E. coli ¥ @I §RI daelal UdIcid &l AUIdd GH- &I @i &1 Jurufd a1
Hpuffa d camp @ fafir= &R gR1 ufquifed foan man | 39 ufqures @rsa) )
H1af gl [T 791 a1 WART § I8 @l 741 fov (=g g0 Waid o Iufefd d
daeie WATY @ frariiad & g0F & SRU g3 | fgdig Arsd &l gFe,
fifed &9 T Udh 3 @Il qul daeis [Af¥d e Yae= arey o (aef ofF &
HRIEHAT AU IdNdd dad Ud IdNadl F. coli @ dl o0 &I Hal &1 ¥ Ueieid
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1 ] | 1
2 4 6 8
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Timeinh
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4,
| 1 1 |
| ] | I
2 4 6 8
Timein h

Options :
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8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following statements were made about human mitochondrial genome:

A. The replication of both the H and L strands is unidirectional and begins at
specific origins.

B. Majority of the mitochondrial genes encode for protein  products.

C. Though the mitoechondrial genome is extremely compact the genes never show
any sequence overlap.

D. The CR/D-loop region of mitochondrial genome exhibits triple stranded
structure.

E. Transcription of mtDNA starts bi-directionally from a common promoter region
in the CR/D-loop region and continues round the circle.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2ADE
3.B,D, E
4 B,CD

Options :

8024375077. 1
8024375078. 2
8024375079. 3
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8024375080. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HHd QABODIY Yol & Jra | [ $Y= 9918 T

A. H T L HT Tould! &I Widddig- UhicTH® gidl & aUl U 929 JeH ®d IR

IR EAR |

B. HMUBHIR GABIIHY S+ Ui IdTGl B B ddl o |

C. I BB Tl Scid T Bial &, Sii- dHl Wl TRl e) a2l &l

D. IBEIY Tel- &1 CR/D-T &F Fied AT el & |

E. mtDNA @ 3fcia- @ 3R CR/D-3% W& H U 3YaFss S~1ad HaA §
fafaRITdS diid ¥ 3R¥ BIdl & aUT 9 & ddh &l JRI I&dl © |

FHifeed @19 91 U fadcy 94 Gel @yl s A 4 Afd § 2

1.A B D
2 A DE
3.B,D, E
4B,C D

Options :

8024375077. 1
8024375078. 2
8024375079. 3
8024375080. 4

Question Number : 81 Question Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following statements were made about the characteristics of cyclin proteins:

A, Synthesis of M-cyclin is dependent on the cyclin mRNA that is newly
transcribed after every cycle.

B. Destruction of M-cyclin toward the end of mitosis is driven by ubiquitin
independent proteolytic system.

C. G1 cyclins can be activated by mitogenic factors.

D. Retinoblastoma (Rb) is a key target of the activated cyclin D — Cdk 4/6 complex.

E. While cyclin A1 expression is ubiquitous, cyclin A2 expression is restricted to
the germ cell lineages.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2B CE
3.B,D, E
4 A CD

Options :

8024375081. 1
8024375082. 2
8024375083. 3
8024375084. 4

Question Number : 81 Question Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A. M- TTSiaa &1 9090 95faad mRNA B IR AR g e ude a8 &
ugard 4 R ¥ srafad gl g |

B. UHGAU & THIUA o IHIU M-Irsfdad @ faam glaggfed sHia uidH
UYCH d« 9§ FIeid oidl & |

C. G1 HISfFH! &1 Afchgur G- SRS 4 5l Ghdl 6|

D. YfeAIsareIAT (Rb) Gfihd TR D - Cdk 4/6 T D1 UG U@ A aidl & |

E. Saf Ii3fae A1 @1 ificafad Jacdud s, GEfacd A2 @ siiadiad o=+
®ITIDT G=ad 9o ol Sitd tedl & |
feifed aH 91U Aoy gy TRl Al s o A a2

1.A B D
2B CE
3.B,D, E
4 A CD

Options :

8024375081. 1
8024375082. 2
8024375083. 3
8024375084. 4

Question Number : 82 Question Id : 8024371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following statements were made about catalytic introns:

A. Group | introns may undergo self-splicing by transesterification.

B. Group Il introns do not require any factor/protein for autosplicing either in vivo
or in vitro

C. Certain introns of both the group | and Il classes may contain open reading
frames which are translated into protein.

D. Generally, group | introns migrate by DNA-mediated mechanisms, whereas
group Il introns migrate by RNA- mediated mechanisms.

E. Ribonuclease P (RNase P) is essential for bacteria and archaea but not
eukaryotes.

Which one of the following combinations represents statements which are all

correct?

1.A B D
2B DE
3.3ACD
4.C D E

Options :

8024375085. 1
8024375086. 2
8024375087. 3
8024375088. 4

Question Number : 82 Question Id : 8024371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



1 By IR 3<H & T H g9 T

A. fage Tediaru gRI & | & S<H! & WWaHe~H 5l 9odl 8|

B. Siid 34dl U & 1| <M Bl WaHEH o (AU fdodl dRB/UICH Bi Sa=ddhal
el Bidl &

L ﬁlmllﬁ%ﬁ%@ﬁﬁﬁm UY (open reading frames) Bl
Gdbdll o forga] 341G UIcH & ©U H gidl g

D. W], @ | SeH! &1 RIFFRU DNA-THR] Uil §R1 8idl 6, &t av i
Sl B RIFFRU RNA-TERY UiHa gRIBAI ¢ |

E. AZEIYfGITH P (RNase P) SaTU[it auT 3 siiaropsi & R sasae § =
goedre! o o =g |

fFifeed @1 O @@ Ad 9 O SuAl @ Gl g 2

1.A B D
2B DE
3.3ACD
4.C D E

Options :

8024375085. 1
8024375086. 2
8024375087. 3
8024375088. 4

Question Number : 83 Question Id : 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A protein found in the golgi compartment was found to be degraded rapidly at
mitosis. Golgi extracts (isolated from G; and M phase cells treated with
deubiqutination inhibitors) were treated with glycosidase and western blots done
using antibodies against the protein. The following pattern was obtained.

Marker G, hA

- gly + gly - Bly + gly

75 —

30 | —

Identify the statement that CANNOT be made based on the data.

1. The protein is glycosylated in Gy and M-phase

2. The protein is glycosylated and ubiquitinated in M-phase

3. The protein is ubiquitinated but not glycosylated in M-phase
4. The protein is not ubiquitinated in Gy

Options :

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 83 Question Id : 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Pdarker G, M
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|
ST BT UgaH B ol fh IWIad e s & 3MYR U et o141 ol 9hdl 6 |

1. Gy TUT M-3a®1 § UIiEH T oiddiad & |

2. M-3aT § WIEH s difgciiad auT geaafeRsd 2

3. M-I H UIdH ZiaagcHdd & R Tediicided Tal ¢ |
4. Gy ¥ UIeH glaagieAed el ¢ |

Options :

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 84 Question Id : 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following statements were made about regulation of eukaryotic gene expression.

A, It is usually regulated at the level of initiation of transcription by altering the
chromatin architecture.

B. The eukaryotic genome is divided into domains by insulator elements.

C. A chromatin remodeling complex binds to the promoter of a gene in sequence
specific manner.

D. Architectural proteins regulate gene expression by promoting DNA bending.

E. The chromatin remodeling complex can alter nucleosomal architecture, but
cannot displace them.

The option with all the correct statements is

1.A B D
2 A CE
3.B,D, E
4B,C D

Options :

8024375093. 1
8024375094. 2
8024375095. 3
8024375096. 4

Question Number : 84 Question Id : 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A. HIYRUGY] U8 141 & §-Iae & 96ald & gRI 3aE- & YRS TR 1)
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B. bigifed Toi ofaRis dal gR1 &= | fauferd gid g1

C. Ush shiafe Uideuu Iy U o & 3-hd U 3HHH fafre gurrel 9§ ded
el

D. a1 Hdfdd W DNA FRIS &1 GIEd s oii- ffHoafdd &1 e &id
gl

E. shiafe ufaesgur Gty gfdaaias &f @3g1 H uRadH o Tad &, U] 3!
fa=Tftd 6f @2 9@d |

gt Iet Syl aral fadh e & -

1.A B D
2 A CE
3.B,D, E
4B,C D

Options :

8024375093. 1
8024375094. 2
8024375095. 3
8024375096. 4

Question Number : 85 Question Id : 8024371275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Contents in Column | and Il are with respect to bacterial transcriptional regulation.

Column |

Column lI

I. Positive regulation by cAMP

a. Ara operon

ii. Short abortive transcripts

b.Lac operon

iii. DNA looping

c.Riboswitch

iv. FMN synthesis

d.Transcription initiation

Which one of the options below correctly matches contents in Column | with Column [I?

L ()= (b); (i) —(d); (iii) - (a);
2. ()= (<) (i) — (b); (iii) - (a);
3. ()= (b); (i) - (a); (i) - (d)
4. (i) = (d); (i) - (o) (iii) - (b);
Options :

8024375097. 1

8024375098. 2

8024375099. 3
8024375100. 4

(iv) — (<)
(iv) — (d)
: (iv) = (©)
(iv) - (a)

Question Number : 85 Question Id : 8024371275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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ICH | TYT || BT faug g Sianudd sea-d Haad & GaH 7 § |

o | @ 1l
(i) |cAMP BRI USRIHD 354 (@) |Ara Ui
iy  [og Few uficd (b) |Lac TEITCI®
(i) |DNA FHU () [EEikad
(iv) [FMN S2d9or (d) |HTaE TR

Wﬁﬂmﬁﬁmﬁﬂﬂl YT || & [a9g a%q @I Gdidbdl § gHiod el

G

1. () —(b) (i) —(d): (iii) — (a); (iv) — (<)
2. ()= (<) (ii) = (b); (iii) - (a); (iv) - (d)
3. ()= (b): (i) - (a); (iii) - (d); (iv) - (c)
4. (i) = (d); (i) - (o) (iii) - (b): (iv) - (a)
Options :

8024375097. 1
8024375098. 2
8024375099. 3
8024375100. 4

Question Number : 86 Question Id : 8024371276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which one of the following statements about eukaryotic RNA processing is
INCORRECT?

1. Termination of transcription occurs co-transcriptionally at the polyadenylation
site.

2. Phosphorylation of the Ser 2 of the RNA polymerase Il CTD is required for the
recruitment of polyadenylation factors.

3. Polyadenylation requires both cleavage at the polyadeny-lation site and
addition of poly A.

4. Xm 2 is the nuclease that degrades the cleaved RNA to release RNA
polymerase Il from the template.

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4
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YHRANCD RNA UHHU & FGH H DI 91 Uh DY Tad 67

1. ICREA @1 THITH SgUsHa ®d T Je-3aa-aa 4 g |

2. RNA UICERS 1| CTD @& Ser 2 @1 BIBIRCIHIU dgUs Hidmil HR®I &
AR & ToiT 3aaa® g

3. dgUSHid®HRU & fou Sglafieiaiy ®d W fdga a9l dg A (poly A) @1 GR
G @1 HTaaddl 8idl o

4. Xrn 2 9% Fdd § o it Ui ¥ RNA TTETHR (| & FHaRor & o fagferd RNA
ol fqgfed oal gl

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4
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The following statements are made with reference to the fact that tRNAs are
known to possess T in their sequence.

A. RNA polymerase Il utilizes TTP as one of the substrates.

B. Like any other RNA polymerase, RNA polymerase |ll also utilizes rUTP but when
the RNA pol lll reaches a looped structure it binds to S-adenosylmethionine to
methylate C-5 position of the incorporated U to result in a thymine in a
co- transcriptional manner.

C. During transcription of tRNA genes at the designated positions, DNA

polymerase replaces RNA polymerase Il to incorporate T in the tRNA
transcript
D. A specific methyltransferase utilizes a methyl group donor to post-

transcriptionally modify the specific U residues into T residues.
E. Uracil to thymine conversion occurs in a large number of tRNAs in the TWC
loop.

The option with all the correct statements is

1. A and B only
2. B and C only
3.Cand E only
4. D and E only

Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4
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Question Number : 87 Question Id : 8024371277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fifoed YAl &1 39 720 & Y ¥ 99191 741 [ tRNAs B U4 HTHH H T Bl
GHIEd [T gU ST ST § |

A. RNA TTRITES 11| TTP ®I U Sisiod & &9 H SUdR H Tl ¢ |

B. Tl GUX RNA TIRIHRS & ofdl, RNA GIERS 11l T rUTP &1 SUGR &dl &
TR T4 916 RNA pol Il T FabReR sHIde Sl UK &R ol &, I8 JHId% U &
C-5 R B! AP d B3 & (6T S-UTSHITaHRE=A 9 §4dl 8, IRUMEEy
E-3fcie- UG 4 Ui 3 ufawfad siai & |

C. FfE™e RTl W tRNA SIHT & 3fgeRa" SR, tRNA Hided H T &1 GHIled &
o 6T DNA TTIRITERS RNA TIRIFERS 11l & Wid=IIUd SRl g |

D. U 92y HYIEaeighe H-cia- U=drd [d=19 U 3994l &I T g4l 9 gikafdd
B b fo1U T AT THE SIal 1 IUGRT Bl |

E. TWC O H tRNAs & A4S T § QRIS &1 YISH- § YuRdd oidl &

i 98t Syl ¥ gad fadea B

1. Hdd A JUT B
2. ®Hdd B AUl C
3. &bdd C aUlE
4, Hdd DAYl E

Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4

Question Number : 88 Question Id : 8024371278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Leishmania major, the causative protozoan parasite of cutaneous leishmaniasis,

resides and multiplies within the phagosomes of macrophages. Resistance to the

infection correlates very well with the development of a Th1 response. In order to
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prove this hypothesis, three groups of BALB/c mice were taken: control group,
IFNy &) group and IL-4 /) group. All the groups were infected with L. major and
then parasite load was measured in each group after 4 weeks. Which one of the

following results will justify the experimental outcome confirming the hypothesis?

L

Parasite
1 load

Control [FNyHH [L-40H

Parasite
2. |oad

Control  IFNyFF  IL-4KF)

Parasite T

3 laad
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i I

Control  IFNyH) L4t/

Parasite
4. |oad

Control  IFNYH) 114

Options :

8024375109. 1
8024375110. 2
8024375111.3
8024375112. 4
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ALHAT HolX (Leishmania major), ddl TRy SRUEES WeEH e
ggd HHUA & BN H 99 X1 § IY1 d9-31% S 8 | WA § Uiy
U Th1 601 U 9gd 3w ¢71 4 Gedaltd 2id1 8 | 39 HauRu &l Mg s &
T pALB/c TE! &1 o9 I v T : HREIfE (control) THE, IFNy /) THE Tl
IL-4 &) Tg | Ot TE! B L major T Yshfira favar a1 qur 5T 4 TwiE & uzard
Td® T H Weidt 4R &1 719A e | Freifea $19 @ we ufom sEuron
@t ufP @ /U O AWt &t Ifa fos e
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Parasite
1 load

Control ~ IFNy/)  IL-41)

Parasite
2. load

Control ~ IFNyH 1L-4¢/

Parasite
3. |oad

|
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Control  [FNyK") |41

Parasite
4. load

i

Control  IFNYH  |L-4¢H

Options :

8024375109. 1
8024375110. 2
8024375111.3
8024375112. 4
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Receptor tyrosine kinases (RTKs) form a large and important class of cell surface
receptors whose ligands are soluble or membrane bound protein or peptide
hormones. Which of the following statement is INCORRECT?

1. All RTKs are transmembrane proteins with extracellular ligand-binding site and
a cytosolic domain.

2. Binding of ligand causes most RTKs to dimerize

3. Cytosolic tyrosine kinase phosphorylates a distinct set of tyrosine residues in
the cytosolic domain of the dimer.

4. Adapter proteins and enzymes involved in signalling pathways bind to different
phosphotyrosine residues via a conserved polypeptide domain called SH2
domain.

Options :

8024375113. 1
8024375114.2
8024375115.3
8024375116. 4
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el TR BIgHod (RTKs) DIIHT Gdig Aedl &1 U faITd Ud Heayol &
F1d & forge dawt gomeha a1 e sas Uid a1 tegs g B | Feifea
HIF 91 HYA 7T 57

1. G RTKs DIHTER TaHI-a8E RT 7Y TS PIRI@Iged Ued & 91y
URiafee Ui &

2. TSI RTKs BT G- & 1Y HERA 390 [gdd- B RS a1 o

3. PPN TR Pl fgad P DIRBIA! Uaa F SRIG 3/9ddl &
Ud fafree g & bRGIRGd Hdl & |

4, USTER U duT TogH o {5 Yara gt & Infid & ue Wxféd ueiuerss uas
fSrd sH2 U8 ®ed &, & gr fafi~ BReIeEIR siaadl 3 dud

Options :

8024375113. 1
8024375114.2
8024375115.3
8024375116. 4
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The following statements are made with reference to characteristics of
glycosaminoglycans and proteoglycans, which are major constituents of
extracellular matrix. Which one of them is INCORRECT?

1. Glycosaminoglycans are very long polysaccharide chains composed of
repeating disaccharide units of an amino sugar  and a uronic acid.

2. Except for hyaluronic acid, all glycosaminoglycans are covalently attached to
protein as proteoglycans.

3. Glycoproteins contain less carbohydrate usually in the form of relatively short,
branched oligosaccharide chains whereas proteoglycans contain more
carbohydrate in the form of long unbranched glycosaminoglycan chains.

4. Like O-linked and N-linked glycoproteins, in proteoglycan also
glycosaminoglycans are linked to serine or threonine and asparagine residues.

Options :

8024375117. 1
8024375118. 2
8024375119.3
8024375120. 4
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ifed Ty & ARSI TaEGHl oyl Tifcaraga- & SfHdsol & geH |
11 71, SN fob areiaIRAIdT St &1 Ush Wi Ueds & | (AHifdd ®1H 91 U e
87

1. TSRS Uh THIAT UdhT auT U UHHT 37 & adl SI5abss
gl Bl Jfd &Y Ui dRIss 4@l ¢ |

2. BRI 3 o Sffafiad, 941 s s IR-Nagd- Ul SaRdga-l & odl
TgUael ¥ U A U 9 St Bid & |

3. TZDIUIEH! H QURUIGT HU&TdHd Bic, AMad Acrbdigs gads & €4
H &H Bldiglgae Bld & Said Hiicaidgd-l § o HRad
TS EIRFRAEe- s & ©0 8 e BeEEsc s & |

4, O-3MdG Tl N-3MaG Tas@ e ordl, Hifcaragdy 5 o
TR GIEIERCE S YR 3ryar 3R qur TRIei sfagdl 4 9S Bld B

Options :

8024375117. 1
8024375118. 2
8024375119.3
8024375120. 4
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Prostate cancer cells were treated with Drug A and Drug B in order to check the
efficacy of the drugs in arresting the growth of cells. The following results were

obtained:
Drug A Drug B
Level of T Level of T
EXpression expression
1 — —
- ; k-
.—,{‘. g e“\':‘ - ;:}'!l.- 5’3 Ea E:‘{q.f" ; ia.'?l-
B TV d BV o B
e HP e AL
Cue? Lw@t e (}'ﬁ*ﬁ

Which one of the following statements is NOT correct?

1. Drug A targets the Wnt signaling pathway but does not lead to death of cells.
2. Drug B targets the Wnt signaling pathway and leads to G cell cycle arrest.

3. Both drugs A and B lead to cell death but targets different apoptotic pathways.
4. Drug A kills cells via the mitochondrial- independent pathway.

Options :

8024375121. 1
8024375122.2
8024375123.3
8024375124. 4

Question Number : 91 Question Id : 8024371281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



STl & Sifrdbie &1 gfg DI AU B &Hd B TRE- & oL U R
DIl & S A (Drug A) TUT 39T B (Drug B) § IU=TRd fobar |

Ui U feg 1
Drug A Drug B
Level .::I‘T Lewve| of T
EXpression expression
1 — —
e® 9 W ob e® 9 W ah
i J__pa; wa?“&g @ﬁ""e“{ﬂ'f“ﬂ & cﬁ"#: Lasﬂﬁt"e r;.-@{dnme“hg
L\\g_? Lw.a\j. dﬁﬁ Gﬁ. .aqﬂ..
f=ifted ®H U1 U@ &UH 9ol J8l & 7
1. NI A Wit HdoaH UY 1 TIad dRdl & U] DIID1Sl & Jg BT dRS ol
aal |
2. Y B Wnt Hoba GY & Afed Bl & a4l G, DIADT 9P & T HIAC B DD
GERIE
3. ST Uil A 9YT B DIRIGT 5 ® R a4dl & U= SR HIRID] Jg Tyl
ARG RGN

4. AT A DIRGIH D GABUBI-LIHH T4 & GRI BIADI3 BT 94 Bl o

Options :

8024375121. 1
8024375122. 2
8024375123. 3
8024375124. 4
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A transgenic mouse was generated for both heavy and light chain specific for
MHC molecule H-2K™ so that all the B cells in this mouse therefore had BCRs
specific only for H-2K™ and made only anti- H-2K™ specific antibodies. By
appropriate breeding, the H-2K™ specific immunoglobulin transgene was
introduced into mice bearing different MHC genotypes H-2K" and H-2K™™. With
respect to selection of B-cells within the bone marrow of H-2K" and H-2K™" mice,
which of the following statements is correct?

1. In H-2K" mice, the transgenic antibedies will not be detected on the surface of
any of the B cells

2. In H-2K™" mice, the transgenic antibodies will not be detected on the surface
of any of the B cells.

3. In H-2K" mice, the transgenic antibodies will be detected on the surface of
some of the B cells but not released in the serum.

4. In H-2K™" mice, the transgenic antibodies will be detected on the surface of
some of the B cells.

Options :

80243751251
8024375126.2
8024375127. 3
8024375128. 4
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MHC 3] H-2k™ & o a=Iffid = qur g y@al aFi & oY Ud URei-! ggl
11 71 fored i 59 g o 9l B SIRd181T § dhad H-2k™ o fore fa=iffid BCRs
& O Bad Ufd H-2k™ fafree ufioreial &t 81 IUgad U & gRI, H-2K™
fafame ufoRamdisgfer URSH ®f Udb SRl MHC SIHURRY H-2K" @l H-2K™/n
a1l gg H QR SRATIA | H-2K" TUT H-2K™" ggl b i Aol H B- dIfdra
& T & g5 & Feifa e e sy 98l & 2

1. H-2k" get B 5t off 8 Siftest & g W urelH ufeRefial &1 ggaa T8t
Eull

2. H-2k™/n et , Tt ot g Sif¥rersit & Us W weit ufarefial o gga 8t
Eull

3. H-2K" g6l &, $9 B SIXd1el & Ute W IR ufcRelal &1 99 8l 1id
I # Had 8l gR 1|

4. H-2k"ngEl H T B DI & U5 W URGH Hiaaidl &l Sga- sl

Options :

80243751251
8024375126.2
8024375127. 3
8024375128. 4
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Following diagram displays the MHC haplotype of a heterozygous H-2%d mouse:

Maternal KK Aak Bu Eak Bk Dk Lk
MHC

Paternal

MHC Kd Aadpd Ecdpd| De| L9

How many types of MHC molecules will be expressed on activated macrophage
(M) and a normal fibroblast (NF)?

1. Mg 8 ; NF 14
2. M@ 4; NF 6
3. Mg 14; NF 14
4, M 14; NF 8

Options :

8024375129. 1
8024375130. 2
8024375131. 3
8024375132. 4
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Fifed 3 U fawagast H-294 g8 & MHC gwleizy (AU Uey) axiidl &

Maternal KK Ak Bk Eak Bl.: Dk Lk
MHC

Paternal
MHC

Kd Aadpd Eadpd| D9| L¢

AT JEdHEBHIRIBT (Me) TYT T T dduy (NF) TR fdd ISR & MHC
HUL3HT Bt Sifreafad gFT 2

1. Mg 8 ; NF 14
2. M@ 4; NF 6
3. Mg 14; NF 14
4, M 14; NF 8

Options :

8024375129. 1
8024375130. 2
8024375131. 3
8024375132. 4
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In C. elegans the SKN-1 protein controls the fate of the EMS blastomere which
generates the posterior pharynx. With reference to the above which one of the
following statements is INCORRECT?

1. The MS blastomere is able to generate pharyngeal tissue even in isolation.

2. Embryos from skn-1 (skin excess) deficient mothers lack both pharyngeal
mesoderm and endoderm derivatives of EMS

3. Embryos which are skn-7 null mutants will always make extra hypodermal (skin)
and body wall tissue.

4. SKN-1 activates MED transcription factors whose level of activity controls the
fate of EMS lineage

Options :

8024375133. 1
8024375134.2
8024375135. 3
8024375136. 4
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C. elegans (1. Tei-E) H SKN-1 UIEH EMS DR®Es o gl &1 Hg-a0 &dl 8
Sl b U9 T &1 A0 3l 8 | SURId & aH # Fifhd & 91 T $UA
Tad 87

1. MS BROES AE g1 H 1 79+ Sd®! &1 HAv 3 9@dl ¢ |

2. skn-1 (@ ffca) 3quf 719 T IT~ YOI § EMs & GGl T9-1 HE-wR
qYT Sfqva® Gl @I 3HE 8idl o

3. YU S {5 skn-1 YA SARGd! &, ¥ad HfdRad HURadd (IH) 791 &g Wi 3ddb
GEIRIE]

4. SKN-1 MED 3f-tia dRa] &l Gishd Bl ¢ fordd [haRiicdl &1 &R EMS
duga o fHafd & Fafd & 5

Options :

8024375133. 1
8024375134.2
8024375135. 3
8024375136. 4
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Maternal effect genes are extremely important in establishing the anterior — posterior
polarity of the Drosophila embryo. Mutant phenotypes arise when genes of this family
are mutated. The following table enlists genes and phenotypes observed on mutation of
these genes but not correctly matched.

Gene |Mutant Phenotype

A. Torso |i. No abdomen, no pole cells

B. Vasa |ii.Defective oogenesis
C. Oskar |iii. Head and thorax deleted

D. Bicoid|iv.No termini

Which one of the following combinations is correctly matched ?

1T.A-ii,B-i C-iii, D-iv
2.A-i,B-ii,C-iv,D-ii
3.A-iv,B-ii,C-i,D-iii
4 A-ii,B-iv,C-ii,D-i

Options :

8024375137. 1
8024375138.2
8024375139. 3
8024375140. 4
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HIg BADBR S Sl YUl & HY-URd gadl & 0] & U 3 HedyU]
g | 39 WE & oiFl ®f SdRafad ®- d 3diad! a&uTEy U Bid & | FE
URUT 3 Sl & IARdd U=dld Uddiad by T T&vmRey aul Sl o gl 4G

TRA e Rq TR A TSI |

S ARGl F&UEY
A. 2181 (Torso ) i e UG, yd DIfeT AUl
B. @7 (Vasa) i, ARyl SeA
C. 3&@5¥ (Oskar) iii. O Tur 9 faanfua
D. /99aIUE (Bicoid) iv. 3fded fqufud
fuHifed @9 91 e 99=9g gafad & ?

1TLA-ii,B-i, C-iii, D-iv
2A-i,B-ii,C-iv,D-ii
3A-iv,B-i0i,C-i,D-iii
A A-ii,B-iv,C-ii,D-1i
Options :

8024375137. 1
8024375138. 2

8024375139.3
8024375140. 4
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The hedgehog pathway is extremely important in vertebrate limb development,
neural differentiation and facial morpho-genesis. In accordance with the above
statement, what would happen in mice that are homozygous for a mutant allele of
sonic hedgehog (shh)?

1. Limbs would form normally but the mice would have facial abnormalities.

2. Midline of the face would be reduced and a single eye would form in the
center of the forehead.

3. Eyes would form normally but digits would be malformed.

4. Mutations of shh may activate tumor formation if Patched protein can inhibit
the Smoothened protein.

Options :

8024375141. 1
8024375142.2
8024375143. 3
8024375144. 4

Question Number : 96 Question Id : 8024371286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Eolel'l UY DHIREH] H Ul [aeMN, di! [AfReH I ayl d9gX & WXaHl A &
o103~ Aoyl & | SWIK HYF & HJUR, Td ge § 1 ol Sl I U
JaRad! faeed! Fifie 8611 (shh) @ T TagS 82

1. UTGI 1 MG 16 B8R TR~] 9 H det & SRarMTidddl gl

2. dgX DI HE Bid] g1 ST OUT SIS & 39 ¥ Uh Uhd -3 fddbidd g |

3. 31 &1 YHR T3 BT U] el H=aryiide ghl |

4. shh ¥ IaRadd o€ Fair &1 by & Oadl @ 3 U8 (Patched) UIEH
W(Smmothened}mﬁﬁﬂmﬁ |

Options :

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



8024375141. 1
8024375142.2
8024375143. 3
8024375144. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Xenopus, the Noggin protein, accomplishes two major functions of the

organizer: it induces dorsal ectoderm to form neural tissues, and it dorsalizes

mesoderm cells. Which one of the following observations is correct with respect

to Noggin?

1. If a plasmid clone expressing Noggin protein is microinjected into a lithium
chloride treated Xenopus gastrula, it should rescue the abnormalities induced
by lithium chloride treatment.

2. If a plasmid clone expressing Noggin protein is microinjected into UV-treated
embryo which does not give rise to neural tube, it will rescue the abnormality.

3. RNA in situ hybridization of noggin cDNA on Xenopus embryo will show its
presence in all regions except the dorsal blastopore lip.

4. Microinjection of noggin mRNA into the embryo region fated to make the
ventral part will promote its ventralization.

Options :

8024375145. 1
8024375146. 2
8024375147. 3
8024375148. 4
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T & U8 UK diooeR @ dE®] $Had eI & O Uid $d 8, TUT T8
AEHER DIN@e B U8 §91d g1 ARH & 9eH § FEifed oF a1 1@
3fqclicn Hel o7

1. uﬁw#ﬁmmﬁqﬁ&@mﬁm@maﬂﬁﬁ%ﬁmaﬁmm
GRSl H geAsid: &9 fbgl 5, df 38! [AiigH wkigs 3UdRr URd
faaaret © FaTid $ea1 91et |

2. TiE Ui FIH UIdH B Sl oidd dY Ugod ol @l UV- SUIRd U1 H gaasia:
&fta fovan o forgd AT el 78] &4d1 & ol s faudarst ¥ Fard &4 |

3. 17 YU W I cDNA BT RNA TR (in-sity)  BRRGSBoRH 39b
Suftyfa &1 gl waH # SR Rar siddb-ax1 SRl @ |

4. S mRNA T YOI & 37tR YT & & U [iate &7 § Jersid: &u0 sae
YR B Urdiied ST |

Options :

8024375145. 1
8024375146. 2
8024375147. 3
8024375148. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



Antennapedia protein expresses in the thoracic segment of the fly and not in the
head region. However, a dominant mutation of Antennapedia replaces antenna
with leg-like structure.

The following statements were made with reference to Antennapedia:

A. In a dominant Antennapedia mutant, the Antennapedia gene is expressed in the
head as well as in thorax.

B. In the Antennapedia mutants, the Antennapedia gene is expressed in head
region only and thus promotes leg-like structure in head socket

C. In addition to promoting thoracic structures, Antennapedia protein binds to
and represses the enhancer of homothorax and some other genes responsible for
antenna specification.

D. Antennapedia has no role in thoracic region specification and thus recessive
Antennapedia mutants show no phenotypic effect.

Which one of the following options represents correct statement(s)?

1. A only
2.AandC
3.Band D
4. B only

Options :

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

tfeATdifEar WiéH Boanad & 9aiig We ¥ sifiyegad gidl & oyl R wes & 781
SId1| I G2 779is 9T Uds WHIG! IdRdd 4T &1 IR 9% TRa-1 4 uRdd
®Xd g | TS & ey H 99 Sy 991g T

A T UM g27rdiiearsanad |, fic7diiearei (AR ayT 91y gf 9&i |
HIFd Bld B |

B. OfeIafegraaiatidl 3, Ofe7rgiiearei kad R & &5 H g i sid &

TUT 39 UBR R TideT § 3 I3 a1 &f Uidiied ®d ol

C. 3&it g1l &l Uidlied @31 & 3ffaiad, ScTaieaac gEdiay aul
B AR SH1 ol & 4l & AP & fau IoReHl §, 39 YaftadRa 4
el & 9YT GHd @l o

D. 3&fia va & fafifpevor # tieardifenr &1 @ls YffeT 78 & 991 SUfe syl
gl ar3dad! dig Y T&UREdl YHId a1 axid |

f=ifhd @11 O U fadhed Tel BY=/HY &1 Gidl 87

1. Hdd A
2 ATYUTC

3. BOYTD
4. Hdd B

Options :

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 99 Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The development of anthers and male gametophytes is highly conserved among
angiosperms. Following are some of the events associated with pollen
development, in random order.

(@) Microsporogenesis in pollen sac to produce a tetrad.
(b) Asymmetric division forming immature pollen grain.
(c) Archespore division.

(d) Division of generative cell to form two sperm cells.

(e) Callase digestion to form free microsperes.

Which of the following option represent the correct series of events during pollen
development?

1.@., (b) (a9 @ (e
2.(c) (a (e} (b) (d
3.(a (9 (d) (b) (e)
4.(c) (e (@ (b) (d)

Options :

8024375153 1
8024375154.2
8024375155. 3
8024375156. 4

Question Number : 99 Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Hqaareigl H WIS 791 R GHDIRgal ®f f[Ga e Wigd gl Frifed
DS YL RATHY o [da & G H 8, SFafa sa | |

(a) WD H Tqeed & FH0 & fon agdiemeH- |

(b) 3MIRUTE WA & & o8 EHHd U |

(<) ST oY |

(d) &I 1] ifD1eT Dl §9H & o IAES BIRID] BT faHeH |

(e) T TETSUS @B & & fore dhais e |

fFifehd 1F 91 fded I fdeTd & SR & "e-1ei ol 9ol »H H fawrd 82

o () (e
e), (b) (d)
(b). (&)

(b), (d)

Options :

8024375153 1
8024375154.2
8024375155. 3
8024375156. 4

Question Number : 100 Question Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following are certain statements regarding C; C3 Cs and CAM carbon
metabolism in plants.

A. In C;3 cycle, one molecule of 3-phosphoglycerate formed during carboxylation
phase is utilized for the biosynthesis of sugars, fatty acid and amino acids

B. During C; cycle glycine is transported from peroxisome to mitochondria and
glycerate is transported from peroxisome to chloroplast

C. The concentration of CO> in bundle sheath of C4 plants is several fold lower
than the external atmosphere

D. The stomata of CAM plants open at night

Which one of the following combination of statements is correct?

1. Aand B
2. BandC
3. AandD
4. BandD

Options :

8024375157. 1
8024375158.2
8024375159. 3
8024375160. 4

Question Number : 100 Question Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fifded o Sy diel 7 ¢, Ca, C, TUT CAM BT UM S HGH A B |

A. C; 9% H, PEIGIaH & GRM a4 gU 3-BIREBIeHe &1 Uh U] JDh, a1
¥ YT SHHHT Sl & SIgHRyr H Ugdd gl ol &

B. C, U & GIRIM T34l & RYHRU WA 4 Hbltiel | quT femRre
B YR RAFHEH S gRaade A eidl & |

C. C, Ulel & Ueliese H CO, 1 Uiadl STg<l adiaul § &g 1 ®H Bl 6 |
D. CAM Uil &1 3¢ A H el sl 7 |
®YAl B fHidhd DIH 91 Th Hd Hel & ?

1. AdUIB
2.BdUlC
3.ACQYID
4 BdUID

Options :

8024375157. 1
8024375158.2
8024375159. 3
8024375160. 4

Question Number : 101 Question Id : 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Following is the list of cellular responses of root hair to bacterial Nod factor and
timing of their induction, which may or may not be matched.

Response Timing

A. Membrane potential depolarization . within 1 min

B. Ca®* spiking in and around root hair cell nucleus Il. within 10 min

C. Root hair growth perturbation, pause in growth, lIl. over a period of
curling hours

Which one of the following is the correct match ?

1T.A-i B-ii, C-ii

2. A-ii, B-i, C-iii
3.A-iii,B-i,C-ii
4 A-i,B-iii, C-ii
Options :

8024375161. 1
8024375162. 2
8024375163. 3
8024375164. 4

Question Number : 101 Question Id : 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fifded Tl ga af @1 Slidifitas Nod RS & 0T SIRIGE widfsar au 3-d
WdciH dlc @l GRIidl 8, ol GHIeId 8l AT -el Yl gl ¥dhd & |

PIGIER] qHg-UAd

A [BIeci favg fayQo i. 1 min @ &
B | A BI®l dad H aul dRI @B Ca2*  |ii. |10 min & &3

PIRaE]
c |gadH ofs oafdwy, 9fs o favm, dad iii.  [gel & 3afy o
f=ifed ®H 91 UP Yol Hd &2
1. A-i, B-ii, C - iii
2. A-ii,B-i, C-iii
3. A-iii, B-i, C-ii
A A-i, B-iii, C -ii
Options :

8024375161. 1
8024375162. 2
8024375163. 3
8024375164. 4

Question Number : 102 Question Id : 8024371292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Plant growth hormone receptors, namely TIR1, GID1, COI1 and PYL1 were
knocked out independently in Arabidopsis plant. The resultant plants are named
as tir1, gid1, coil and pyl1. Which one of the following statements regarding the
above Arabidopsis plants is correct?

1. tir7 is defective in ABA signaling while coi7 in gibberelline signaling
2. gid1 is defective in auxin signaling while py{1 in JA signaling

3. cot1 is defective in JA signaling while py{7 in ABA signaling

4. tirl is defective in gibberellin signaling while gid7 in auxin signaling

Options :

8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 102 Question Id : 8024371292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

UIcy §fg SMEF Wiedi, S f& TIR1, GID1, COI1 TUT PYL1 DI TS
(Arabidopsis) UTGU H Wd-d ¥4 U R favgr ar | oo 9isl &1 tirt, gid1, coil
and pyl1 991 AHifdd &1 T | SWiad GREIEYT QY & gy o FA=ifed
©H U Uh HY el 87

1. tir1 ABA Tebd | Afequl & Sdfer coit [Sisifer Haod |1

2. gid1 3T GobaH H FIeYU § Saich pyl71 JA b | |
3. coi 1 JA GdvaH H YU g Saich pyl1 ABA Hbad H |

4, tir1 Torelie aba ¥ eyl & Seld gid1 i b o |

Options :
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8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Followings are certain statements regarding phytochrome-mediated signal
transduction in Arabidopsis:

A. phyA and phyD are photo-stable, while phyB, phyC and phyE are photo-labile.

B. Prolonged light exposure and the conversion of PgRA to PrgA cause phyA
concentration to drop.

C. Exposure of light and conversion of Py to Prg cause movement of
phytochromes from the cytosol into the nucleus.

D. phyB lacks nuclear localization sequence and depends on transporter protein
for nuclear import.

Which one of the combinations of above statements is correct?

1. Aand B
2. AandC
3. Aand D
4. Band C

Options :

8024375169. 1
8024375170. 2
8024375171. 3
8024375172. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fifded B® BUH TSI (Arabidopsis) Trell B TIGUaUd-HEwY Jdvd TR

»deH A &

A. phyA TYT phyD UBIRI-GEG &, Sdid phyB, phyC TYT phyE HHRI-HRRR B |

B. GTHICI- WaaTRT SFTERUN GUT PrA 1 PrpA H T UIART phyA 5 & Ua- &I
PRUE |

C. UhTRN TG TYUT Py B Prg H TUGRU & HRUI UIGUAUid! & BifRdiaay
U Hso § (AR A § |

D. phyB & &gt RIHIGHR 51 B UG 5idl & a4l B5® H HGd & g
giae® UicH R R g g |

JURIad $YA B S 1 TS 30 Jol & ?

1. AdUIB
2 AdYUIC
3.ACQYID
4 BdylC

Options :

8024375169. 1
8024375170. 2
8024375171. 3
8024375172. 4

Question Number : 104 Question Id : 8024371294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The gene encoding for mevalonate-3-kinase is disrupted in a certain plant. Which
one of the following statements concerning the above plant is correct?

1. Mevalonic acid 3, 5-biphosphate will be synthesized, while there will be no
synthesis of Mevalonic acid 5-phosphate.

2. Mevalonic acid 3, 5-biphosphate and Isopentenyl diphosphate will be
synthesized.

3. There will be no synthesis of Mevalonic acid 3, 5-biphosphate but Mevalonic
acid will be synthesized.

4. Acetoacetyle-coA and Mevalonic acid will not be synthesized.

Options :

8024375173. 1
8024375174.2
8024375175. 3
8024375176. 4

Question Number : 104 Question Id : 8024371294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

D G4l H AT -3-BI5 B ded B aldd S a1dd sid & | SWRiad G4l &
el & fHifed &F U1 U &y T8 87

1. HaTdid 3 3, 5-fa¥mEhe & YIdul 1T, Sdid Hardi—e 3 5-BRbe
CIREG BRI

2. HaTdl e 3 3, 5- [S¥pEhe dyT AZUU-i-d SEBIEbe &1 Uy g |

3. HaTcl-d 37 3, 5-fa¥hTEbe &1 Y2y el I U] Haldl=d 3 &1
Gyl g |

4, UFEuffed-coA TUl HaTdi-g I &1 U9l gl sl |

Options :

8024375173. 1

8024375174. 2
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8024375175.3
8024375176. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Plants perceive effector proteins from pathogen to mount a strong defense
response. The following statements were made regarding signal transduction
events upon perception of a pathogen.

A. Influx of Ca®* and H* ions into the cell

B. Influx of K™ and CI” ions into the cell

C. Efflux of Ca%* and H* ions out of the cell

D. Efflux of K™ and CI” ions out of the cell

Which one of the following combination of statements is correct?

1. A and B only
2. A and D only
3. B and C only
4. Cand D only

Options :

8024375177. 1
8024375178.2
8024375179. 3
8024375180. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Ule) Uch 9=1ad WIcRET Sfehdl RIMUd D b [e1L IRTedD & YHIaIdIGs UIdH! ol
TR @d § | Ut INT-Id & TTeR 3 R g did Ydbd URITHA "e-msi & 5 |
fifed @y g9 T |

A BIRDHT H Ca* Ul 1= 315! 31 3<idig

B. BIR®IH K* qUT CI- 315l 31 3dig

C. DD & 9182 Ca2* TUT H* -~ 30| Bl Siedie

D. BITADHT & dI6x K* YT CI- AT &I digdig

F B A A A AT Yol § ?

1. AdUIB
2 AdYID
3.BdYUIC
4. CdylD

Options :

8024375177. 1
8024375178.2
8024375179. 3
8024375180. 4

Question Number : 106 Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The action potential recorded from pace maker tissue (SA/AV node) of
mammalian heart is shown in the following diagram:

A ANA
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mYy

VAV,

Time

On the basis of mechanism of generation of action potential in pace
maker tissue (SA/AV node), the following statements were proposed from the
above figure

A, 'funny’ channels are activated at 'b’

B. Outward flow of K* occurs at ‘a’

C. T- Ca™* channels are closed at 'c’

D. Fast Na* channels are opened at 'd’

E. The upward phase at 'd’ is largely due to inward movement of Na®

Which one of the following combinations represent correct statements?

1. AandB
2.BandC
3.Cand D
4. DandE

Options :

802437518]1.
8024375182.
8024375183.
8024375184.

AW O~

Question Number : 106 Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

WHYR gad & Tid Fame Sao (sas/av mdfl) T fiafed e T faug

mV

-40 4

-60 4= -
b

Time

g Fame Sdad H Iaied s ard fhar fava o feafafd & MR W, Suiad
3§ 1 Sy u=anfad e 77e |

A.'b’ TR B (funny) HOTTcH Sfbd BIATE |
B."a’ IR K™ PI AR UGG BIdI & |
C.'c W T- Ca** U §G Bl © |

D.‘d' TR §d Na* UUIS G Sl & |

T

E. 'd' UR RIS WG] HAqT Na* o =038y THARHA A gidl &
fFiferd ®F O '@ A7 9 ouHl @ gRid g 2

1. AdUTB
2. BdUlC
3.CdUID
4 DdYUTE

Options :
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8024375181. 1
8024375182.2
8024375183. 3
8024375184. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Some metabolic aspects of the Red Blood Cell (RBC) are proposed in the following
statements:

A. Synthesis of fatty acids does not occur in the RBC
B. The pentose phosphate pathway is operative in the RBC
C. RBC cannot synthesize reduced glutathione (GSH)

D. RBC does not contain enzymes like adenosine deaminase and pyrimidine
nucleotidase

E. NADH-dependent methemoglobin reductase system is present in RBC
Which one of the following combinations is NOT correct?

1. Aand B
2. BandC
3.Cand D
4. DandE

Options :

8024375185. 1
8024375186. 2
8024375187. 3
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8024375188. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T ¥ad BIRIDT (RBC) & P IUMdgd! Gggad ol (4= oy | uxarfad fovan a1 &:
A. RBC ¥ T4 3%l BT Y90l 781 Blal & |

B. RBC H U<l ThIehe UY PO gl & |

C. RBC 3{Ufdd TS (GSH) BT U=cINU -Tg] & Fabod] |

D. RBC H Uiy feufim-a aur dikfafs gfdaaifc s o teigd "8l gld & |

E. RBC H NADH- THIRd HYHNIE Tgacsl WUl SuR sidl &

frifesd 1 |1 U ol HEl T8t 87

1. AdHUIB
2.BdUlC
3.CdUID
4 DdYTE

Options :

8024375185. 1
8024375186. 2
8024375187. 3
8024375188. 4

Question Number : 108 Question Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Insulin is a heterodimer made up of A and B peptide chains joined by the intra
and interchain disulfide bridges formed between amino acid of respective chains
as suggested below:

A Ag Ay

B. A7 B>

C. A Big

D. Az Bys

Which one of the following represents the correct disulfide bridges joining A and
B chains of insulin hormone?

1.A Band D
248 CandD
3.A Band C
4B, CandD

Options :

8024375189. 1
8024375190. 2
8024375191. 3
8024375192. 4

Question Number : 108 Question Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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oig i g=ifar A B, SegfeH UiEET sie ol Hefd gacal o did g4 SHiar aul
HRYEd S3Uch3s 4 9 9IS gU A dY1 B ULTZS Sadisl @ Uh [dudigad &

A. Aﬁ J5‘{111

B,A? B?

C AEU Blg

D. AE BlE

fifesd ®F 1 Ud 3gfeH g & A TY1 8 §EarH &1 Sie- ard 9eid
SEUTHISS Ud B Gid &7

1.ABdYID
2.A CdUID
3.A BOYUIC
4 B, CdYID

Options :

8024375189. 1
8024375190. 2
8024375191. 3
8024375192. 4

Question Number : 109 Question Id : 8024371299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fibrinogen, Factor |, is a soluble glycoprotein present abundantly in plasma.
Following biochemical characteristics are given below about this glycoprotein:

A. It is a dimer of the three polypeptide chains(A, Bg )2

B. It is a dimer of two polypeptide chains(A, Bg);

C. The chains are covalently linked by 29 inter- and intra- chain disulfide bonds
D. The chains are covalently linked by 19 inter- and intra- chain disulfide bonds
Which one of the following represents a combination of correct statements?

1. Aand C
2. BandC
3. AandD
4. BandD

Options :

8024375193. 1
8024375194. 2
8024375195. 3
8024375196. 4

Question Number : 109 Question Id : 8024371299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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3O TARHMIEH & T H e SR siftrastt e 2

A. T TIF UTIUETSS aenst (A, By y), 1@ Gad§ |

B. U Gl UIIUCTES T3T (A, By), @1 Gad g |

C. §U 29 HR-TYT HicR- YT SHUchlLe HEH U g4l €4 4 IS gid
gl

D. $EaY 19 SHR-aYT Hd-YEa S Uchigs HEH U Ygudel &9 U s Bid
gl

fHifeed ®F U1 Ud Ugl dyH! &1 Hel Wid Hdl 87

1.ATUIC

2.BAYUIC

3AQYID
4 BdYID

Options :

8024375193. 1
8024375194.2
8024375195. 3
8024375196. 4

Question Number : 110 Question Id : 8024371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Testosterone is a steroid hormone about which a set of statements are given
below:

A. It is secreted by Leydig cells of testes.
B. It is secreted by Sertoli cells of testes.
C. It inhibits secretion of luteinizing hormone from anterior pituitary.

D. It does not inhibit secretion of follicle-stimulating hormone from anterior
pituitary.

Which one of the following combinations represents correct statements about
testosterone?

1. Aand C
2. BandC
3.Band D
4. A and D

Options :

8024375197. 1
8024375198. 2
8024375199. 3
8024375200. 4

Question Number : 110 Question Id : 8024371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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SRR Udh TGS BIHH ¢ forgdh aR H Y+l &1 U 94g - a1 11 &:
A. T8 QU1 & Al ST BIfRIdwrefl gR1 afidd gl g |

B. U8 gUUT & Wl BIBI31 gRI Aad sl @ |

C. I8 3 UIgftie] ¥ Yed Mo 8- & Hid ol Adhdl ¢ |

D. U8 37 UG § Yedh- 351U gIHI- o |Id &l Aol Adbdl & |

fFifed ®F W UE A0 Ceie & aR Uid B! @l TRdd Bl 67

1T.AGUl C
2.Bd4l C
3.84d4l D
4 AU D

Options :

8024375197.
8024375198.
8024375199.
8024375200.

AW N~

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A scientist synthesized four new chemicals which had mutagenic potential and
named them as C1, C2, C3 and C4. He tried to analyse the nature of mutations
caused by them and obtained the following results:

Mutations Mutation reversed by

produced by

mutagen 2-Amino  |Nitrous Hydroxyl Acridine
purine acid Amine Orange

C1 Yes Yes Some No

Cc2 No MNo No No

C3 Yes Yes No No

c4 MNo No No Yes

Which one of the following answers describes the mutagenic potential of
the chemicals?

1. C1 causes transitions, C2 causes transversions or large deletions, C3 causes
transitions and C4 causes single base insertions or deletions

2. C1 causes transversions, C2 causes transitions, C3 causes transversions and C4
causes large deletions

3. C1 causes large deletions, C2 causes transitions, C3 causes transversions and
C4 causes single base insertions

4, C1 and C3 causes transversions while C2 and C4 causes transitions

Options :

8024375201. 1

8024375202. 2
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8024375203. 3
8024375204. 4

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

U 39S H IR T4 THEHT S Gt foan o IaRad-To- &HdT § aur 39
C1, C2, C3 YT C4 SI¥ FHIdbd fbar | 9 31 gRT g1 dld IARTAH & UPhd Pl

U&7 fasar a1 e giomef &l ure o

JARgadeHl  [SdRdad & 39 gRI uidaiad fear

R IdTGd , !

SaRadd 2T [T [FESliRNT (IS SRS
BT T Ui

C1 Fl gl B el

C2 Tel ol el el

3 Gl gl Tel el

4 Tel el el gl

fRifhd ®F U1 TP Ik TEAT &1 SARGdToH! &HdT &l afild &edl 87

1. C1 9 HehHAT [transiticms]l@?ﬂ%’. Czﬁm (trans- versions) 7 fagre
[aeiiu BT 8, C3 U UhHU Bl & AUT c4 ¥ Udhal &R [HazH a1 fqeiu- gidr g |

2. C1 ¥ Si-ad gidi 8, c2 U YAl gidl 8, €3 § Si-add-d sidl © a4l ¢4 1 fa=imd
faeiu- i g |

3. C1 ¥ fqure fadiu glar g, c2 ¥ dhHu gidl 8, €3 ¥ giuad-a sldi g a4l c4 9
Uehel &R AR B g |

4.C1 Y1 €3 Y Ti-9ad-g Bidl & Siafds C2 9UT 4 Y AhHU Bidl & |
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Options :

8024375201. 1
8024375202. 2
8024375203. 3
8024375204. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fertilization of gametes containing chromosome with duplications or deletions
often results in children with disabilities. = What is the probability of a couple
where the male is karyotypically normal and the female has a pericentric inversion
in heterozygous condition producing a child with disabilities if crossing over took
place within the pericentric inversion in 26% of meiotic divisions?

In this case consider that fertilization with a gamete containing chromosomes
with duplications or deletion will result in disabilities.

1. 26%
2. 13%
3. 25%
4. 50%

Options :

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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feaoET ar =T ard oREl O god gEel & HuDH 8 a1 gU gl § U
fapaTany (eman) et & | 3% 26% el fauemt & fafmg uive=i ufoaias
& X Bl & dl Ue g e R UREUEYT 9 § aul Ael § fquagies
a1 H U uRds! Ufaamq & df 399 SdIfed Ueh o H fAhanTand (31eMan)
B @ Ul o1 gl

9 H1Hc H 98 AFGR 9 b [9700H! a1 [qaluHi are urgEl 9 gad gEd! & HueH
Y faparTand (3f&HdIT) SO B |

1. 26%

2.13%

3. 25%
4. 50%

Options :

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 113 Question Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In D. melanogaster, traits 'a’, ‘b’ and 'c’ result from recessive alleles that are
located on one of the autosomes. The resulting F; females were test crossed and
the following progeny (total of 1000) were obtained:

a b ct 350
a . & 25
a brc 380
a b'ct 35
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a b'c 100

a b ct 10
a bc 85
a bte 15

The following conclusions were made from the above data:
A. The order of genes is a b c and the distance between a and b is 8.5cM.
B. The order of genes is a c b and the distance between a and c is 8.5cM.
C. The order of genes is b c a and the distance between b and c is 21cM.
D. The order of genes is c b a and the distance between b and c is 8.5cM.
Which one of the following options represent statement(s) that is/are correct?

1. A only
2. AandD
3.Band C
4. D only

Options :

8024375209. 1
8024375210. 2
8024375211.3
8024375212. 4

Question Number : 113 Question Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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st fﬁ’@??ﬁ?f’?{ﬂ. melanogaster) ﬁﬁﬁﬂﬁ?ﬁq a’, 'b’ddl ' Hﬂlﬂﬁ?ﬂﬁ@_vﬁ?@
I old & 9l foy S R 3df@yd 8 | U 9uU=d THgHel hoaHed! df Uh
IdRaldd Badad § 997 sl a1 fomd gut diF fafdmeant g1 afvon £
HTGTH! BT UR&m TR SR 1 auT FH (@d 1000) Fafadi Ui b Ta;

-6t 350
- 25
a b ¢ 380
g & 35
e 100
abc 10
F b 85
F B 15
IWIdd sl U FHHihd (Hswy Har T2

ASHIBIPHabcdUald b & dld &I gl 8.5cM 8 |

B.WlHI BT acb & d4la Ud c & did &I gil 8.5¢M &

CoHi DI ®HHbcat ddlbUd cd &ld I gLl 21cM © |

D.GHI BIhH cb at a4l b Ud c & &ld Bl G 8.5cM B |

fFrifd @H W U@ fadey 34 faddd,/ sl @ oxiidl & 9l 98 o7

1. Bad A

2 ATUTD
3.BTYIC
4, Hdd D

Options :
8024375209. 1
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8024375210. 2
8024375211. 3
8024375212. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The table given below shows the Lod score values of three different pairs of genes
studied for assessing if they are linked pairs:

Gene Pair "1’ (Gene Pair 2’ Gene Pair '3’

Lod Score 1 2 3

The following conclusions were made from the data given above:

A.  For gene pair 1 the probability of the genes being linked is 10 times more
likely than them assorting independently.

B. For gene pair 2, the Lod score 2 indicates that the probability of the genes
being linked is twice more likely than assorting independently.

C. The genes of pair 1 and 2, can both be considered as linked, while the genes
of pair 3 exhibits independent assortment.

D. The genes of pair 3 can be considered as linked.

Which one of the following options represents statement(s) that is/are
correct?

1. Aand C
2ZBandD
3.AandD
4 AandB

Options :

8024375213. 1
8024375214.2
8024375215. 3
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8024375216. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Feifed aroft I fafi= =t & Sifsa! & Lod Wai® Iod &1 a=1idl & foF@
AT 3G 91 & oE- & oY far T4 7% 3 9ead Sifea & 91 Jar:

SH el 1 | S St 2 | S eel 3

Lod UTEdid® 1 2 3
SRIad Hidsi 4 9H ey Fard 10
A SHSIE 1 % U SH S G o &1 GRIITT 3% Wdd AUgET e U
10 THT & GHIA E |
B. S Wlel 2 & folU, Lod WTWich 2 GRIdI § a2 SiHl & gord gl ol GHIaA
Td-d HYSHE B U &l THT 3Hied GHIT & |
C. SISl 1 9YT 2 B o, giHl Bl G- 9H1 9 Ubdl &, J€id dial 3 B o
W HUHe c2idl & |

D. Wl 3 B Sl & eor! 3[ET ol 9hdl & |
F=ifed B 1 U fadbed SY=/HYHl &l aXidl 6 ol [& 9i® o7

1TLAdYIC
2.BdylD
3.AQYID
4 AdYUTB

Options :
8024375213. 1
8024375214. 2
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8024375215.3
8024375216. 4

Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gene ‘A’ in mouse is needed for its normal growth [normal size]. Mouse strains
with deletion in gene ‘A’ (A%") have been developed.

When the following cross is made
QA A xAAS

all progeny (both males and females) are of normal size.

When the F1, progeny with the following genotypes are crossed:
I AdelAx pp©

50% of the progeny obtained are small in size.

The above observation can be explained by:

1. Maternal inheritance
2. Maternal imprinting
3. Paternal Imprinting
4. Maternal effect

Options :

8024375217. 1
8024375218.2
8024375219. 3
8024375220. 4
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Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I ¥ UMM 3f& [ HR] & O ofF A* @ asgad] eidl o 981 ®f %l
I [an i fovar a1 foH S A" Taeiiud 8 (ads)

g = UgEH I S Tl
QAdel A S AAT
gt dafadl (R ud /a1 o) @1 SHR 9MH § | 9d 5 S9! ard

F1 Tdfaal &1 Y601 BT 4T
4 AdelAx ap ©
509 YT Hdfddl &1 PR BT 8 |
JWRIad fddid- &I 394 afvid (ol off 9&hdl 6 ;

1. AT dRFI
2. Algeh AL
3. Ogd s
4, HIgD YHId

Options :

8024375217. 1
8024375218.2
8024375219. 3
8024375220. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In a mammal, coat colour is governed by gene B, The coat colour is either black or
brown, depending on whether the genotype is BB or Bb. It is not known which of
these genotypes lead to the black and brown colours. The genotype bb results in
albino coat colour. Further, the genotype cc suppresses the expression of coat
colour resulting in albino coat colour. An albino male was crossed with a brown
female and the resulting progeny had individuals with either black or brown coats.
From this observation it can be infered that the genotype of the male and female
that were crossed are:

1. BB cc and Bb CC, respectively
2. Bb cc and Bb CC, respectively
3. bb CC and BB CC, respectively
4. bb Cc and BB CC, respectively

Options :

8024375221. 1
8024375222.2
8024375223. 3
8024375224. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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% YR H, SR (@rd) &1 31 o4 B GR1 Faf<d sid1 & | a0y &1 31 41
DI & HYAT WX § o [t 59 a1d W R § fh SiHu=u BB 8 T8 © | 8 F1d 1ol
e fb 37 ¥ ®H 91 SHUEY S 9yl Y2 T ST SRS gl SHUEY bb Udd
(@UidgI) AR ] T IU~ Bl & | AGURI, SHURY cc TR0 T & HfHaafad
B Gd a1 & URUMRGEY 49d 91 &1 A0 30 eidl & | UF 4gd R @l
TEEHRON HY HIGT ¥ DAl T qUT uRonEl "atadl # a1 di SIe a1 431 IR0 Sa
g1 | 39 JHdaild- 4 g8 ey e o Ghdl & fov U il T/ R aul J1al
B o-uEd &

1. BB cc AT Bb CC, PATTIR
2. Bb cc AT Bb CC, HHATTIR

3. bb CC TYT BB CC, HHFER
4. bb Cc YT BB CC, HATER

Options :

8024375221. 1
8024375222.2
8024375223. 3
8024375224. 4

Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diagram below shows the floral diagram of the family Malvaceae. Parts of the
diagram have been labelled from A-D.
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Labels

Floral characteristics

A Monothecous stamens
B i |Syncarpous ovary
C iii  |Epicalyx
D iv  |Fused sepals
v |Apocarpous ovary

Which of the following combinations represent all correct matches between labels

and floral characters?

1. A-iv; B-v; C-iii: and D-i
2. A-i; B-v: C-iv; and D-ii
3. A-iii; B-ii; C-iv: and D-ii
4. A-i: B-ii; C-iit; and D-iv
Options :

8024375225. 1
8024375226. 2
8024375227. 3
8024375228. 4
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Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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WWF@%@[maIvaceae)@%ﬁﬂmaﬁm% | 3G & HFT Bl

A -D ¥ 3iftd fear T g1

A e Sfyeam
A HHYSY Ghar
B i gadisdl SRy
C i dieqaysl
D v [EIferd deled

v fagadisyl sis=y

=ifded ®F 91 U faded Yedi ATHTIEN GUT Sidh1 &1 el Hel Widd Sl 67

1. A-iv; B-v; C-iii: and D-i
2. A-i; B-v: C-iv; and D-ii

3. A-iii; B-ii; C-iv: and D-ii
4. A-i: B-ii; C-iit; and D-iv
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Options :

8024375225. 1
8024375226. 2
8024375227.3
8024375228. 4

Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



The following diagrams (A to D) show characteristic arrangement of stamens
within a flower and (i) to (v) enlist families of plants.

PP

i. Cucurbitaceae
ii. Fabaceae

iil. Malvaceae

iv. Asteraceae

v. Euphorbiaceae

Which one of the following options has all correct matches between the
arrangement of stamens and the families they belong to?

LA-v;B—ii;C—Hi; D-iv
2. A—iii; B—i; C—iv; D - ii
JA-IB-iC—vD-i
4 A-vB-0:C—i:D-iv

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4
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Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fH S (A T D) U qog H JobaR| ot SAfeiafun fa=am, aur () © (v) 9l & ol
® YR ddl & |

A p i
agle i [

! wél‘:ff ( Cucurbitaceae)
ii. el ( Fabaceasg)
iii. Iﬂﬁﬁf{ Malvaceae)
V. Q@_\":ﬁ ( Asteraceae)
V. {ﬂ’ﬁm{ Euphorbiaceae)
fifed fog e G § Joml & 399 av1 99 oa § d a4 §, 396 a9
BT Wel Hal 87

T.A-v;B—ii: C—ii: D - iv
2 A—ii; B—i; C—v; D -l
3 A B—ii; C—iv;D -1
4 A-vB-i:C—i:D-iv

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
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The figure below shows reptilian skull types (A to C), class of organisms (i to iii)

and examples of animals (X to Z).

i. Diapsid X. lchthyosaurs

ii. Anapsid Y. Snakes

iii. Euryapsid Z. Tortoise

Which one of the following options shows correct matches between the three

components?

LA ILY; Biii, Z; Ci, X
2.Bii,Y; Ai,X; Ciii, Z
3.A 0, Z Biii, X; Ci, Y
4. B, iii, Y; A i, X; C i, Z
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Options :

8024375233. 1
8024375234. 2
8024375235.3
8024375236. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fifded Taes T3gU |iuSial &t UdR (A T ¢, oiidl &f 9ot ¢ ¥ iy, aul
STl & SaTe (X ¥ Z) GXId & |

i. Diapsid X. Ichthyosaurs

ii. Anapsid Y. Snakes

iii. Euryapsid Z. Tortoise

fifesd ®F 1 U fadwey SuRied JiH 3gual & o9 &1 el Hd g g ?

1A Y Biii, Z; C i, X
2.B.ii, Y, Ai,X; Ciii, Z
3.A 0, Z B i, X CLY
4. B,iii, Y; A i, X; C i, Z

Options :

8024375233. 1
8024375234.2
8024375235. 3
8024375236. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Column | list names of organisms and column |l list stages in life cycle.

Column | Column Il
A |Taenia i. |Hexacanth
B |Obelia ii. |Glochidiom
C [Unio iii. [Planula
D (Balanoglossus iv. [Tornaria
v. |Miracidium

Which one of the following options represents all correct matches between the
two columns?

1. A-i; B-ii; C-iii; D-v
2. A-iii; B-ii; C-ii D-v
3. A-i;  B-iii: C-ii; D-iv
4. A-ii; B-v; C-iii; D-iv
Options :

8024375237. 1
8024375238. 2
8024375239. 3
8024375240. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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DICH | Siidl & A qUT BicH || SiTa- o6 B ATl B Ydidg Bl g |

DIy | DI I
A I (Taenia) . TSP (Hexacanth)
B ST (Obelia) i.  [@ifefEad (Glochidiom)
Cc  [@Faf (Unio) i [@a (Planula)

D ENEIRIRE (Balano-glossus)  |iv. EEIEL|] (Tornaria)
V. FRfafean (Miracidium)
fifeea ®H O U [adhed GHi dicHl & did &I Hel Hol URdd B 87

1. A-i: B-ii; C-iii: D-v
2. A-iii; B-ii; C-i; D-v
3. A-i;  B-iii; C-ii; D-iv
4. A-ii; B-v: C-iii; D-iv
Options :

8024375237. 1
8024375238.2

8024375239. 3
8024375240. 4

Question Number : 121 Question Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are statements regarding apomixis, i.e. asexual reproduction through
seeds

A. Sporophytic apomicts often produce a mix of clonal and sexual progeny

B. In gametophytic apomixis, the unreduced central cell gives rise to apomictic
embryo

C. In pseudogamy the endosperm is formed in the absence of fertilization

D. Apomixis can potentially be used to maintain hybrid vigour over many
generations

Which one of the following options represents the combination of all correct
statements?

1. Aand C
2. BandC
3.Cand D
4. A and D

Options :

8024375241.
8024375242.
8024375243.
8024375244.

AW N~

Question Number : 121 Question Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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=T SRFTSH, Sid diel & gRI HcIRT® o & SaH | oY G g

A, SO-3REg UG U FeH adl e dafadl & Ud [Heu Sa= &l
2 |

B. TH® 125G AT H, SeTddd draid DIRId] HETeH-® YU 3~ B o |

C. MYTEgrE & e & Suiufd & Yoy o FEir g

D. oA BT GHITad ITART HdR 3 B 3 UGl b A-RI&d B3 H [dpdr o
gobell g

fifesd &9 91 U fadey Ot Ugt Syl & 5 &f Sidl 87

TAJUIC
2.BdUlC
3.CdUID
4 AdYID

Options :

8024375241. 1
8024375242.2
8024375243. 3
8024375244. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The linkage density in a food web is a function of the connectance and the
number of species in it. It is defined as the average number of feeding links per
species. Which one of the following would have the highest linkage density?

OC 099000
O OaOSNCYOYO

Qa el
DL

Options :
8024375245. 1
8024375246. 2
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8024375247. 3
8024375248. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
8024375245. 1
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8024375246. 2
8024375247. 3
8024375248. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ozone concentration in the atmosphere is measured in Dobson units (Du). An
ozone hole is said to have occurred when the concentration of ozone in the
region falls below 220 Du. The diagram of the globe below shows the location of
three study sites. The table below it shows values of ozone concentrations
recorded at the sites for two dates in 2009.

90 "N
.
o’
[ .-
| S.No| Recorded Ozone Values
| 30 March 2009 | 30 Sept 2009
i _ 270 290
i | 400 | 240
i _ 450 | 420
\ 250 110

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



Which one of the following options represents the correct matches between
the study sites and the recorded ozone values?

1. A-i; B-iii and C-iv
2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4. A-i: B-ii and C-iii
Options :
8024375249. 1
8024375250. 2

8024375251. 3
8024375252. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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IIAaRu H IS B Gr%dl 81699 (Dobson) 3®13 (Du) B 9REIUR faedn Siar & |
U 91 ol & & ieH g e Fafu e giar s 9@ 39 &3 | Siei &f Irsan
220 Du T = Ia@1 oA § | A fGan mn we @1 TF 9 i e 7w @
U & | 399 -d @1 9RU 2009 &1 &l fafta! W sifidfad few e oieiq arsa

& Yo I G © |
90N
v
™ H
E.i__ e
90 “§
5. No. Recorded Ozone Values
30 March 2009 30 Sept 2009
i 270 290
li 400 240
il 450 420
[\ 250 110
Fifd @9 91 T fadbed ega- &af oy AfaRad sieia 920t & & &1
ol Ha aAidi g ?

1. A-i: B-iii and C-iv
2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4. A-i: B-ii and C-iii
Options :
8024375249. 1

8024375250. 2
8024375251. 3
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8024375252. 4

Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A population of crickets invading a new grassland showed a population growth
pattern as shown in the figure

Carrying capacity (K)

Number of individuals

e/

Tirmo -

Following is the list of potential interpretations:

A. Environment is damaged due to population overshooting its K

B. The resources did not recover and population dies out

C. Carrying capacity is lowered due to shift in environmental conditions.

Which one of the following options/combination of options can correctly explain
the cricket growth pattern?

1. A only
2. B only
3. A and C only
4. B and C only

Options :

8024375253. 1
8024375254. 2
8024375255.3
8024375256. 4
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Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

U@ 79 Iyl R 1908 @R © R & 0o od - RE § T3 T WEY &

oI S gfg T |

=

5=

% Carrying capacity (K)

A —

=

2

5 |~ b

=

o Time -

Guyifad faaaref &1 g A B

A SO BT O K B a0 &35 & HRu gRiyfdy qafaee  afaas ganl
B. TOTeH TH: 98Td el g1 dYl S-YeEd g B Wi & 41|

C. aIdTaRuiTg gTard § fa®1aq & SR UaH &Hd $H 8 T

DHY/BYET B DH I FH 06 [docd IR & i WEU &l Fdidal 9 givfd
ERGIGH

1. Had A
2. ®ad B
LATYUIC
4. BTUTC

Options :

8024375253 1
8024375254.2
8024375255. 3
8024375256. 4
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Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the spectra of plant forms (on the basis of where the plants bear
their buds) in different biomes (A to C).

| EETEr % of the various life forms in the
80 L world for comparison
g . | % of the total Nora for cach plant form
= m|
= S0 |
=
A. B 401 ;
¥ 0r |18 . i
| | %
Phasnoiphytes Hemiryptophytes  Thevophytes
80 -
o
=
= 60 +
2 o
B e 40}
: £
8
g 20}
=1
| %
n .|
Phaenorphytes Hemicryptophytes  Therophytes
)
L=
&
= 60
[=
-
—
G c 40}
=
& 20}
a M
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C LA |2 1%

Phaenorphytes Hemicryptophytes  Therophytes

Which one of the following options correctly identifies the biomes represented in
graphs A to C?

1. A- Mediterranean; B- Arctic; C-Tropical
2. A- Tropical; B- Desert; C-Temperate

3. A- Tropical; B- Temperate; C-Desert

4. A- Desert; B- Arctic; C- Temperate
Options :

8024375257. 1

8024375258. 2

8024375259. 3
8024375260. 4

Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

faft= Siaid H (A to ©) UTGU ®Uf @ 9uf-Ue (UGl & Haidl & YR B34 & «H

% of the various life forms in thi
20 kL % world for comparison
N o
I N | | % of the total flora for each plant form
= |
7 60F
2
Fi¥ S 40
g
g 20 -
)

p 7 :
LA 2 |lg

Phaenmoiphytes Hemiryptophytes  Therophytes

au%
=
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Phaenorpliytes Hemicryptophytes  Therophytes
80
E
2
= 60 F
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=
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Phaenorphytes Hemicryptophytes Therophytes

fifdd @ U1 U [ddhey W6 A T ¢ § wal2id Siaidl &1 9diddl 4 UgdH &dl
87

1. A- HAEARRIT: B- Jaii-YdIT:; C-IWdhicadig
2. A- SWDHICHET; B- HEYH: C-Ridis

3. A- SWBICHET; B- AL - HEYH

4. A- Y B- IaR-Ydig; C- Ziare

Options :

8024375257. 1

8024375258. 2

8024375259. 3
8024375260. 4

Question Number : 126 Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are growth and survivorship curves.

A Growth curve B Survivorship curve

Carrying capacity

O

Population size

Mumber of survivors

0

Time Percentage of maximum life span

Select the correct combination of growth curves from figure A and survivorship
curves from figure B given above, that would best represent r and K strategies,

respectively.

l.r=aandl;K=bandn
2r=bandnmK=aand|l
3r=aand m;K=bandn
Adr=bandm;K=aandm

Options :

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 126 Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A Growth curve B Survivorship curve

Carrying capacity

@,

Population size

MNumber of survivors

1 |
AR

Time Percentage of maximum life span

&

JWRIdd 3 A T gfS dp TUT 3R B Y JaReiiiddl dsb & Gl ulls Bl g-1d dY
il fob s He: ¢ Ul k¢ Hifadl @ Saptear 4 ufaffEa & |

1r

adill: Kk =bdUln
2Zr=bdiln K=adyll
3r=ad¥ylm; K=bdiln
Adr=bddim:K=adilm

Options :

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following four climatograms depict observation of mean temperature and

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



raintall for four locations. | he solid lines depict temperature while the dashed line
depicts rainfall.

[+] =]
A 40 C MM s0r- ™M 300
E |
20— . “H20 25F o 1150
! |
ol . _lo ol . .o
Jan Jul Dec Jan Jul Dec
°C mm °C _______mm
c 40 = a0 | 30 =] 200
/ ~

. _
5 /
20+ / g3 a5l \,-1100

Jan Jﬁl Dec Jan Jul Dec

Given below are five biomes:

l. Desert
Il. Savannah
Ml Tropical rain forest
V. Mediterranean
V. Conifer ecosystem

Which of the following combinations correctly matches the climatograms to
the biomes?

T.A-iv B-1i C-i D-v
2.A-v B-iv C-ii D-iii
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3. A-iii B-ii C-i D-iv
4 A-v B-iii C-ii D-i

Options :

8024375265. 1
8024375266. 2
8024375267. 3
8024375268. 4

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Hid g SilaE G T g
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iii. SWIdIcdl qul 9

iv. YAEEREIg

v. Tipgel Uii&yfae d<

f=ifed ®1H U1 ey iy o= @1 W™ 4 Geiddl § 9d &Rl o7

1. A-iv B-ii C-i

2 A-v B-iv C-ii
3 A-0ii B-ii C-i
4 A-v B-iii C-ii
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Options :

8024375265. 1
8024375266. 2
8024375267. 3
8024375268. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A tree built using BLAST cannot be used to infer phylogenetic relationships. Given

this, which of the following statements is NOT true about trees generated by

BLAST?

1. It is based on a distance method, where alignment similarity scores are used to
cluster sequences

2. It is an exhaustive tool where similar sequences are found by locating all
matches between multiple sequences simultaneously.

3. The generated tree is unreliable because the algorithm is data base-
dependent

4. It is built by first performance seeding following local alignments.

Options :

8024375269. 1
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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BLAST @I SUTRT e SN 141 9&f Siddwiid Yatd Glfad d- o (e 3ugiT H
TE! IR o 9l & | S9! 66d §U BLAST 1 SUTNT &3 9-1¢ TR g&l & TG H
©IF 1 Y el 7el o7

1. 98 Ut gdl Usld W 3M1e1d &, ofgi fb T@0 Gaeydl Sidh dl IUGNT Al
@ Qgas O3 8 fear a8 |

2. U% U HUD Y & Sel GHH IshHl Bl U 1Y dgd ShH! & did b g+
Hdll Bl Gieid ®1fUd fdg1 Far e |

3. §T11 1T 9&f HfGRaE-id gidl § Fifds & fafdl (algorithm) sl ®IY-3Mf3d
BT |

4. 9% Ugd di-FsieA dieaud fthe ®ii-d T3 § daR Bidl ¢ |

Options :

8024375269. 1
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are names of scientists and phrases describing their work, which may
or may not be matched

Name of Scientist Work
i Wallace A, |Inheritance of acquired characters
i (Lyell B. |Natural selection is differential survival or

reproduction

iii  [Lamark C. |Processes that alter the earth are uniform through
time
iv  [Cuvier D. |Earth’s geology and natural history have been

shaped by periods of catastrophic extinction and
new creations

E. |Ontogeny recapitulates phylogeny

Which one of the following options represents correct matches between the
scientist and his/her work?

1i-A; ii-B; ii-Civ-E
2.01-B: ii-C iii- A iv-D
3.i-A; ii-C iii- Eiv-B
4.i-E ii- D iii- Ariv- C
Options :

8024375273. 1
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8024375274.2
8024375275. 3
8024375276. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=i 3D & 14 TUT 3k BIAl I aivid ®ed aied QU g &l fe Ha H gl a1

Te sl g@de |
@ & A &Y

i arey ( Wallace) A, [Uiferd &N S G

i s (Lyell) B. |Wipfdd 401 3fdohd Iaulliadl 3fyar o4
B

i [CH® (Lamark) C. 999 HEUR gEl ¥ deard dH 9l
HIEE HIREdIRId & |

iv [T (Cuvier) D. |J%l &1 Ydd dul Uidbidd sider™ fam=end
i@ auT =4 goAl & ®lal gRI el
Targ |

e [afddad Sifdad &1 RIgh $dl &

i ®F T U fddbed deiii—d aul 3-d S &l el Hd Usdd ®idl o7

1.i- & ii-B; ii-Civ- E
2. i- B; ii- C; iii- Ay iv- D
3i-& ii-C iii-Eiv-B
4.i-E ii- D; iii- Ay iv- C
Options :
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8024375273. 1
8024375274. 2
8024375275. 3
8024375276. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a population that is in a Hardy-Weinberg equilibrium, 40% of the plants are

recessive homozygotes and produce white flowers (WF). If the total number of

individuals in the population is 14000 plants, the numbers of homozygous

dominant red flowered (RF) plants and heterozygous pink flowered (PF) plants

would be:

1. RF- 5600
2. RF- 1891
3. RF- 5600
4. RF- 5145

Options :

8024375277. 1
8024375278. 2
8024375279. 3
8024375280. 4

PF- 1891
PF- 6508
PF- 6508
PF- 8855

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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s SHEE H Gl for gifS-fa-ast ararawar # 8, 40% Uit S{yHId] Gyl Ha=]]
o & dY 9ha O0 (WF) SdIed @ & | 3¢ 9% | Siial ®1 od 951 14000
qref Bt df gEgES wHId! ord gitrd (RF) Qe aur fausgrsh et gitd (o) g

aﬁmﬁﬂ

1. RF- 5600
2. RF- 1891
3. RF- 5600
4. RF- 5145

Options :

8024375277. 1
8024375278. 2
8024375279. 3
8024375280. 4

PF- 1891
PF- 6508
PF- 6508
PF- 8855

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

You wanted to conduct Miller-Urey experiment and used a simplified apparatus

with Tungsten electrodes. You heated the glassware at 500°C for 3 hours to

remove any organic contaminants. Gases NHz, CHy, CO and H; were introduced

followed by generating electric spark. Which of the essential ingredients did you
forget to add?

1.05

2. H,0
3. HCN
4, CHO

Options :
8024375281. 1
8024375282.2
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8024375283. 3
8024375284. 4

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HIY FHTR-GX (Miller-Urey) WO &A1 918 94Ul S [Aggded U Jad Waiidd
JUBR] @] IGAN 61| AU Bid & a1 d fBdl f  Hredi-e dgusl &l geH
& iU 500°C TR 3 9Ue & W T {11 NH3, CH,, CO TUT H, T &1 Ua= &l

a1 iR [aggdig SRl 30 a1 T/11 31U 1 1 U6 SHaHE0S 92 bl
EIEGIR GRIDE

1.05
2. H,0
3. HCN
4, CHO

Options :

8024375281. 1
8024375282.2
8024375283. 3
8024375284. 4

Question Number : 132 Question Id : 8024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are the few statements on concepts related to genome evolution.

A. Presence of introns in some chloroplast genes suggests that endosymbiosis
(leading to organelle evolution) occurred before loss of introns in prokaryotes
and supports the hypothesis that genes originated as interrupted structures.

B. Negative selection is associated with increased rate of NONSyNonymous
substitutions as compared to synonymous substitutions.

C. Nucleotide substitution rates during evolution can be inferred from divergence
of the sequences that are non- functional or neutral.

D. Positive selection is associated with increased rate of NONSYNonNymMous
substitutions as compared to synonymous substitutions.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and C only
2. B and C only
3. A and B only
4. Cand D only

Options :

8024375285. 1
8024375286. 2
8024375287. 3
8024375288. 4

Question Number : 132 Question Id : 8024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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B. FNETdH® IRU1 gaHIE RIFU=dl ©f qo-l H SEHATYS ®IFY-dl & d9¢ gu
R g GEEd g |

C. PU® @Y & GRH gfaadiess Rl & &) omai ol 3i&m
3Yal 9o B, 30 [ 4 uRonfid femr s a@sar - B |

D. YHRIHS a0 YHHIYS RYHG-Tdl B qoHl H SHFES *IFG-dl & d¢ gu
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feifded ®IF 1 U [ddey i 1era SYH( & Had @i aRidl 87

1. PAA A TUIC
2. HAAB TUTC
3. Had ATUTB
4. HaA CTUID

Options :

8024375285. 1
8024375286. 2
8024375287. 3
8024375288. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Growth patterns of two species (grown alone or together) are shown in Figures A

and B.
A B 100
100 ___ Species 1
50 - = Species?
50
n .-
0
= 100 = 100
= i - el
S P 2 '
— i I
S S50 ¥ = 50 /
=1 ] '
= 4 = ]
o i ot r
" -‘.#f o L
100 100
Time lda:si Time (dgys)

Match the growth patterns with the correct type of interaction represented by

them

1. A-mutualism, B-commensalism

2. A-competition, B-parasitism

3. A-commensalism, B-mutualism

4. A-competition, B-resource partitioning

Options :
8024375289. 1
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8024375290. 2
8024375291. 3
8024375292. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A B 100
100
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100
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an
|
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Species 1

- = Species ?

I gR1 UKd gl Wy & T4 TP YR & IRWURS sl &l Hd -84

1. A-TEIUHIRE], B-GeHifaar

2. A-UTqTIfiTdl, B-UTSiiad

3. A-TeYIfSid, B-TeadTidl

4. A-Ufagiia, g-daryq fayre-

Options :

8024375289. 1
8024375290. 2
8024375291. 3
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8024375292. 4
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A group of researchers are testing two new agents, M1 and M2 for their efficacy
in selecting transgenic plants. When they performed tissue culture experiments
using three explants, A, B, and C without Agrobacterium transformation, and
selected the regenerated plants on M1 and M2, the following regene-ration
frequencies were obtained.

Regeneration frequencies (%) in presence
of different concentration of agents
Explant M1 conc. (mg/L) M2 conc. (mg/L)

type

20 60 100 10 15 | 20

A 44% | 21% Nil 8% Nil | Nil

B 93% | 30% | 10% Nil Nil | Nil

C 1% | 42% | 18% | 153% | 9% | 4%

Based on the above data, which one of the following conclusions is INCORRECT?

1. M2 is a stronger selection agent than M1 for explant types A and B.

2. A concentration of 100 mg/L of M1 and 15 mg/L of M2 can be used for
selection of transformed cells using explant type A.

3. Among the three explants, type C is least suitable at the tested concentrations
of M1 and M2

4. Use of M1 with explant type B is the most ideal combination for selection of
transformants.

Options :
8024375293. 1
8024375294. 2

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



8024375295.3
8024375296. 4
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39! B TP ol Gl 70 Gardl M1 Tl M2 B GRei-T Tidl & gA1d H 30! &l
@I Gdau & g & | 99 d diH Ddiddl (explants) A, B, Tl C &I I9GNT faH
THISIFERTH (Agrobacterium) UV & SHdd Jau- TG & fau fdar oy m1

Td M2 R H3dIfed el @1 9419 fhdr df FHeifed gH3de IRaRdl Wi fhu
T |

gerdl @ fafi= Trsal @i Iuifd | g3
SRR (%)

Fdidd UHR M1 Il (mg/L) M2 I (mg/L)

20 60 | 100 | 10 | 15 | 20
A 44% | 21% | IO | 8% | A | T
B 53% | 30% | 10% | ¥ | W | [
C 71% | 42% | 18% | 15% | 9% | 4%

SR HiFsl & MYR T, F=ided o 91 Ud 0y TEad & 2

1. Baldd UPHR A TUT B & AU M1 BT ga1 H M2 U THIaIEl Tafiar ueref 31
2. Haldd YBHR A BT JUTNT &d 8T M1 B 100 mg/L Tr5al a4l M2 BT 15 mg/L

Ylsdl ©UIIRd SIfRA®131 & g9 o e fdodn &1 Idai g |
3. TF Ddia®! & &, M1 7Y M2 & TRIEH Trsdisl R C ToR Ta-H U9 o

|
4. UGl & gA1d @ [T M1 @ Sdidd SR B & WY IUERT - Jad G2
Y ¢ |

Options :
8024375293. 1
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8024375294. 2
8024375295. 3
8024375296. 4

Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

RNA silencing is an important strategy to control viral infection in plants. The
following statements were made regarding RNA silencing.

A It is driven by small interfering RNA (siRNA) derived from double-stranded
form of viral RNA.

B. siRNA requires RISC for it function.

C. Many plant viruses encode proteins that act as suppressors of RNA silencing.

D. Viral P19 protein activates RNA induced silencing complex.

Which one of the following combination of statements is correct?

1.A, Band C
2B CandD
3A CandD
4 A Band D

Options :

8024375297. 1
8024375298. 2
8024375299. 3
8024375300. 4
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qref F fqumuaid deau o g0 o & Rna FRASH0 te Agayul gfdd g |
RNA FRG®R0 & g+ # = sy g9 Y |

A. T8 fquIT] RNA & TG-Tou a1 O cqdifad /g exdaid &3 ard RNA
(siRNA) § T gidT © |

B. siRNA @I 34 &1 & AU RISC D1 SHTa=Gdhdl gl © |

C. 3+ UIGY faNIu[e Uil &1 e didl & ol [ RNA FRId®u (AR1s & o
&R B 8

D. fauTy] P19 UIdH RNA TRG FRfawsor affs) of afba ddi g |

®YHAl B FHifdbd D U UH Hd Fal o7

1A BdYIC
2.B, CdUID
3.A, CdYUID
4 A BdYID

Options :

8024375297. 1
8024375298. 2
8024375299. 3
8024375300. 4

Question Number : 136 Question Id : 8024371326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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One curie (Ci) is defined as the quantity of radioactive substance having a decay
rate of 2.22 X 10'? disintegrations per minute (dpm). How much of counts per
minute (cpm) will be recorded for 100 pCi of *°P when measured in a scintillation
counter working at 50% efficiency?

1.1.11 X 108
2.1.11X 108
3.222X10°
4,222 % 10°

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4

Question Number : 136 Question Id : 8024371326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

U a3l (Ci) B fsaradl uard foraes! & 6 2.22 X 1012 fage- ufd fie (dpm) &),
& o1 URYIAG fad1 SId1 81 100 pci 32 & faod= TUETE Ui B (cpm) Sificifad
U U Tfe SUHT AU 50% DTG UR DY B gl Teb YEHRU[ U | fosd]
7

1.1.11 X 108
2.1.11 X 100
3.222X 108
4,222 %100

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4
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Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are a few statements related to plant breeding and genetics:

A. Non-random mating between individuals closely related to each other would
tend to promote a decrease in homozygosity at all loci.

B. Quantitative traits are typically influenced by environmental  conditions to a
greater extent than qualitative traits.

C. The "over dominance” theory for explanation of heterosis assumes that in a
heterozygote, only one of the alleles plays a functional role.

D. During domestication selected genes/traits show a decrease in diversity.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and D only
2B CandD

3. A and C only
4. B and D only

Options :

8024375305. 1
8024375306. 2
8024375307. 3
8024375308. 4

Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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I $@ DU U1y Yol ayl S-drRie! & JeH H fGar i g

A. Udh gt ¥ gfeedl o d6fid Uahsd! & dig eiefess wH g4 fwiel )
THYAAl & &RVl I HH D H Geldd aid o

B. URumHTHS fafRmednt unds fafkmedrel & go1 § UrEUdadl draarulig
Uil O e uHIiad sid 8|

C. TP DI oOReAl & fe1Y s gHIaidar e g8 tRaidid ®edl ¢ & U
faaE & dhac U B FEfddh ! BUiHD YW el Hdl o

D. ‘EQWU] (domestication) ?ﬁﬁﬂqﬂﬁaﬁﬂﬁm ﬁﬁﬁﬁﬁﬁﬁm%l

Fifd S A1 Us fddcy 94T e Y=l & Hd @I G>idl 67

1. &ad A TUI D
2. B,CAYUID

3. HAAATUIC
4. Had B AU D

Options :

8024375305. 1
8024375306. 2
8024375307. 3
8024375308. 4

Question Number : 138 Question Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are a few terms in column A and column B.

Column A Column B
A, |Cisgenics (i) Synteny studies
B. [Zinc-finger proteins (i) Linkage disequilibrium
C. [Comparative genomics  ((iii) Site-specific recombination
D. |Association mapping (iv) Use of endogenous plant genes
and regulatory elements

Which one of the following options represents all correct matches between terms
of Column A and Column B?

1. A-iv; B-iii; C- i D- i
2. A-iii: B-i: C- iv: D- i
3. A-ii; B-iii; C-iv; D-1i
4, A-i; B- iv; C-ii; D-iii
Options :
8024375309. 1
8024375310. 2

8024375311.3
8024375312. 4

Question Number : 138 Question Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A BIcH A 3R ®iaH B H $ Wea/URHN fGU T g

HITT A DIcTH B
A e (i) =T 3reT
B. |[Nid-ThR uieH (i) Hoo-dl HEmaaw]

C. [JoHTHeD Heili-mt (i) [u-fafare gageH

D. [HEdyd (iv)  |3f<eTd OIGy SiFl aur Famd
3(gaal &1 3udrT

fFifea H 9 &1 91 Us fadcd BIaq A TUT BIaH B & aid & sal /ARSI @1
Tl It Al URgd Rl 87

1. A-iv; B-iii; C- i D- i
2. A-iii: B-i: C- iv: D- i
3. A-ii; B-iii; C-iv; D-1i
4, A-i; B- iv; C-ii; D-iii
Options :
8024375309. 1
8024375310. 2

8024375311.3
8024375312. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following are the typical dot plots of cytometric data obtained from peripheral
white blocd cells:

PLOT1 PLOT 2
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250 =
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200 = if & & = L * e
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¥ 1504 t?" > = Fernst
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[E ] | a®
100 = d
=8
10%
50= ]
i 24
o L] | | | ]
0 50 100 150 200 250 10" 10! 10¢ 10%
FSC-H FITC —anti CD8

R1 in plot 1 shows the selection window of cells which were further
analysed based on immunostaining (plot 2). Analyze the given data and choose
the correct option representing the type of cell population in plot 1 selected and
segregated in various quadrants of plot 2.

1. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD&"

(B) CD4- CD8* (C) CD4*CD& (D) CD4* CD8*
2. Plot 1— neutrophils; Plot 2 — (A) CD4™ CD&"

(B) CD4  CD8* (C) CD4* CD& (D) CD& CD4
3. Plot 1— lymphocytes; Plot 2 — (A) CD8™ CD4

(B) CD4* CD& (C) CD4-CD8* (D) CD8 CD4*
4. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD8”™

(B) CD4 CD8* (C) CD4* CDS (D) CD8* CD4"
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Options :

8024375313. 1
8024375314. 2
8024375315.3
8024375316. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A U T9d Yo SIS 9 UK Grgeidids Hidbal @l WRelud fdg Hed

e T4 &:
PLOT 1 PLOT 2
1!
750 = e
i
- = 1071 ) g Leane
200 . E irY. f{.!.t',-
.:ir 180 -'-;t. = '?I l,.rl._.'
H A1 ..-i_"i' 4 -+ 5 100 "-.':1::1-
“ 100- : et | c *
- - i
: ] FPTR PR M
5= 3 g 107 .’}. g m 3
e 11 e en Y
] T T T T % T S T T
0 50 100 150 200 250 10¢ 10t 10 10

FSC-H FITC = anti CD8

AT 1 H R1 3 DIRBIHT BT 99 TTar8 G=Midl & foa! e U Uit RS
TR fa2cTyr fan T/ (3fei 2) | TEU I bS] o1 [q8eiyul B YT 3(TeiE 13
HIH GYg & UbR 9y 2Meid 2 & fafi= Iqufal ° 94 T4 9uT gyadhdl &l G-
a1l el faded ol g1d &1

1. Plot 1— TUIBIBIRSE Plot 2 — (A) CD4— CD8-

(B) CD4— €D8* (C) CD4*CD8~ (D) CD4* CD8*
2. Plot 1 - ~ZiThed ; Plot2 = (A) Ch4+ CDH8+
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gt e —= - - =

(B) CD4-CD8* (C)CD4*CD8~ (D) CD8~ CD4~
3.. Plot 1 TUIBIPIRIDT Plot 2 » (A) CD8* CD4-

(B CD4r*CD8~ (O CDp4—CcD8* (D)CD8 CD4*
4, Plot 1 - THIBIBIRIST: Plot 2 — (A) CD4- CD8*

(B) CD4- CcD8* (C)CD4* CD8~ (D) CD8*CD4~

Options :

8024375313. 1
8024375314.2
8024375315. 3
8024375316. 4

Question Number : 140 Question Id : 8024371330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The data from an S1 nuclease mapping experiment for a transcript mfg7 using a
5-end labelled probe are shown below.

Marker Probe Liver Kidney
—
750 —
500 — e— —
50| —
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150 — —

Following interpretations were made:
A. The liver RNA is 500 bp in length

B. The start site of the liver mfg1 transcript is 500 bp downstream of the 5’ end of
probe.

C. The kidney makes two mfg1 transcripts, and the 3° end of one of these is
shorter than the other.

Which one of the following options represents the correct combination of the
interpretations?

1.A, Band C

2. A and C only
3. B and Conly
4. B only

Options :

8024375317. 1
8024375318.2
8024375319. 3
8024375320. 4

Question Number : 140 Question Id : 8024371330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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s 5-8R fafed duded (probe) 1 Ud Hfafafl mfgr & U START &b S1
GiFITs AHTE WaNT ¥ U s ol -id a1 7T/ g

Marker Probe Liver Kidnay
750 | — -
500 =— — ]
250 =—
150 | w— E—
00| —
50 _—

A. TP (liver) RNA TdT3 H 500 bp B

B. Tdhd mfg1 WAy BT RY el YWRi&® & 5 BR D 500 bp WA &

C. TP (kidney) Gl mfg1 AU S &, U1 95 U U &I 3' BR IR 4 BT 5
Fifed H 8 ®H 91 U@ fadd [adg-mell & e He &I GIidl 57

1.A, B, T4l C
2. hadd ATYUIC
3. Hadd B AUl C
4, &dd B

Options :

8024375317. 1
8024375318.2
8024375319. 3
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8024375320. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of a few restriction sites in the multiple
cloning site of a plasmid:

| I— l | L1
(| | I I |

Hindill Xhol Smal Pstl

The recognition sequences of the above enzymes and their digestion patterns
are shown below:

Hindlll : A‘AGC’I’T Smal : CCC'GGG
TTCGAlA GGG ‘CEE

Xhol : C'TCGAG Pstl: C'TGCAG
GAGCT, lC GACGT lC

Which one of the following combinations of enzymes from the vector can be used
for cloning a DNA fragment obtained as a Sal | (GWTCGAC) - Hind Il (GTYWRAC)

fragment.

1. Sma | - Hind Il|
2. Xho | - Pstl

3. Xho!l -Smal
4. Hind Il - Pst |
Options :
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8024375321. 1
8024375322.2
8024375323. 3
8024375324. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T WIioHS (WGod) & Sgd dai-- Rd & $@ Wide=H- Rl ol -id sRRad faar
RIL| %:

| I l | L
U | | I I

Hindil Xhol Smal Pstl

IWRIad Talrsdl & UgdH Ha! Ul 3 Urad UfaqH &I 3id s T &

Hindill : A'AGCTT Smal : CCC‘GGG
TTCG Alﬁ. GGG ‘CEE

Xhol : C'TCGAG Pstl: C'TGCAG
GAGCT, lC GACGT lC

U® Sal | (GYTCGAC) - Hind Il (GTYWRAC) TS WYl UTd DNA TS HI &l &3 &
foIe Hae® ¥ UensHl & ®F 91 99 U fHaH S d /i« 9@dl 67

1. Sma | - Hind IlI
2. Xho | - Pstl

3. Xho | - Sma |
4, Hind Il - Pst |

Options :
8024375321. 1
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8024375322.2
8024375323. 3
8024375324. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of the T-DNA region of a transgene
construct and the Southern blot analysis (using Pst | digested genomic DNA) of
five independent transgenic lines (labelled as A to E) developed using the
construct. The probe used for hybridization is shown as a black box below the
construct (UT: Untransformed Plant)

Pstl  Pstl
P [ | | || | P
LB Promoter  Gene pA RB
|
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Based on the above data, which one of the following options gives the correct list

of single insertion transgenic events?

1. B and C only
2. A, B and E only
3. A and B only
4. E only

Options :

80243753251
8024375326. 2
8024375327.3
8024375328. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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I T% uReiH FE &1 1-DNA 83 duT 39 FEi & g e [Asfad e 1
Ui Woa URMiH! a9 (A T £ S i) &1 96 sdle [a2auul (pst | UIid "l
DNA T 39 ®ih) P LW UidEy &g 141 5| eRfdssegd & e Iugn o
AT T Yudierd ! AT & e Ue Srar Site Sl I T § (UT: SREUaRd
are))

Pstl Pstl

F' [ 1 | 1 F

LB Promoter Gene pA RB

JWRIad JHidsl & YR R, F=ifhd &4 91 T [ddHcd Tha Ha=H RIS
g1l &1 Ted i WeH &l o7

1. Had 8 U C
2. Hadd A BTYUTE
3. ®dd A TUTB
4. HAdE

Options :

8024375325. 1
8024375326. 2
8024375327. 3
8024375328. 4
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Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the restriction profiles obtained upon digestion of a 4.8 kb
plasmid with four different enzymes (E4, Ez, E3 and Ey).

Ef :  48kb E+Ex = 500bp + 43kb
B, :  48kb Ex+E3 = 400bp + 44kb
= 48kb Ex+Es = 2kb + 28kb
B 48kb Ej+E4 = 19kb + 29kb

Based on the above information, which one of the following statements is correct?

1. E1 and E4 have two recognition sites each in the plasmid.

2. Ez recognition sequence is located between E; and E3,

3. The sequence of recognition sites after digestion of the plasmid with Ez is: E4-
Ea B,

4. The sequence of recognition sites after digestion of the plasmid with E is: E+-
Ez.Es

Options :

8024375329. 1
8024375330. 2
8024375331. 3
8024375332. 4

Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pathfinder Academy

Offline and Online CSIR-NET | CUET-PG | GATE | lIT-JAM | ICMR | GAT-B | 9818063394



TF 4.8 kb WIToHS (Ugeq) BT IR (34— TORH! (£, £y, E; TUT E5) O U & WA

U UidaH @il -id UM bl T g1

By : 48kb  E;+E; = 500bp + 43kb
E, : 48kb  E;+E3 = 400bp + 44kb
E3 : 48kb  E3+E4 = 2kb + 28kb
Es : 48kb  E;+Es = 19kb + 29kb

IWRIdd a1 & YR TR, FHifdd ©H 91 Uh $YH el 87

1. TS | E1dUlEy Ud® & Gl Ugdl+ = (recognition sites) %i
2. E; UgdH 3FJshH E; OYT E; & ol H SafRyd 5

3. WToAS @1 £ ¥ U & USdTd UgdH Wdl &1 §9: E4-E>. E1 8l
4, ToHS & E, § UTeH & 9<aid UgdH Ul &1 HH: E1-E3.E4 6

Options :

8024375329. 1
8024375330. 2
8024375331. 3
8024375332. 4

Question Number : 144 Question Id : 8024371334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The 'H NMR spectrum of 13CH;Cl in CDCl3 shows two lines (doublet, 1:1 intensity)
spaced 140 Hz apart. The carbon ('*C) NMR spectrum of the same molecule
shows four lines (quartet, intensity ratio 1:3:3:1). Both 'H and '3C have nuclear
spin quantum numbers | = 1/2.

Based on the above information which one of the following options is
correct?

1. The multiplicity pattern observed follows the 2n/+1 rule.

2. The 'H-"3C coupling constant is different in the 'TH  (Proton)  and '3C
(Carbon) spectra.

3. The multiplicity patterns are a consequence of the difference  in
gyromagnetic ratios of the 'H and '*C nuclear spins.

4. The multiplicity patterns are dependent on the Larmor precessional
frequencies.

Options :

8024375333. 1
8024375334.2
8024375335. 3
8024375336. 4

Question Number : 144 Question Id : 8024371334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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13CH,Cl ®T CDCl; H 'H NMR dUisHH 140 Hz 1 g3l WR fa%iRd & 3@ (g4, 1:1
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Options :

8024375333. 1
8024375334.2
8024375335. 3
8024375336. 4
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Given below are a few statistical terms in Column A and their related features
and terms in Column B.

Column A Column B
A. | Standard (i) Measure of relative variability
deviation of given populations.
B. | Coefficient (i) Used to make inferences
of Variation about population means.
C. | Chi-square (i) | Positive square root of
test population variance.
D. | t-Test (iv) | Test hypothesis related to
categorical data from
inheritance studies.

Which one of the options given below correctly matches all items of Columns A
and B?

1A= B=il, C-1i, D~i
2.A-ii,B-iv,C-i D-iii
3.A-i0i,B-i,C-iv,D-ii
4 A-ii,B-i C-iv, D-iii

Options :

8024375337. 1
8024375338.2
8024375339. 3
8024375340. 4
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T.A-iv,B-iii,C-ii,D-i
2.A-ii,B-iv,C-i,D-iii
3.A-iii,B-i,C-iv,D-ii
4 A-i0i,B-i, C-iv, D -iii

Options :

8024375337. 1
8024375338. 2
8024375339. 3
8024375340. 4
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